

ATTACHMENT 4: BID FORMS

Tel: (951) 956-2120

<u>LANDSCAPE BENEFIT ZONE MAINTENANCE SERVICES</u> (SPEC. #LMD-1-2024-25-01)

Bidder (Company Name): RP Landscape & Irrigation

Base Bid Schedule

BID ITEM NO.	(A) UNIT	(B) ITEM DESCRIPTION	(C) UNIT PRICE PER FREQUENCY (FIGURES)	(D) FREQUENCY PER WEEK, MONTH, APPLICATION	(E) YEARLY PRICE (FIGURES) (C x D)
1.) B	ID SCH	 	<u>:</u>		
1.	L.S.	Maintain 10,088 S.F. of Planter Area, on a monthly and as needed basis per Specifications.		X 12	\$ 2,440.44
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 4.64 L.S.	X 52	\$ 241.28
3.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 12.98	X52	_{\$} 674.96
4.	EA.	Provide and Apply Fertilizer within 10,088 S.F. of Maintenance per Specifications.	L.S \$ 25.72 EA.	X3	\$ 77.16
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	4.64 \$ LS.	X 52	\$ 241.28
				Subtotal BZ-1A	\$ 3,675.12
2 \ P	ווו פרם	IEDULE – BZ-1B (Tract 17399)			
1.	L.S.	Maintain 5,757 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	<u>•</u> \$ 89.28	X 12	\$ 1,071.36
			φ 33.20	^ 12	φ 1,071.00

	0	
L	J	

2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work			
		Performance Reporting/Scheduling per Specifications.	\$ 3.16 L.S.	X 52	_{\$} 164.32
3.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per	. 0 24		_{\$} 433.68
		Specifications.	\$ 8.34 L.S.	X52	\$ 433.00
4.	EA.	Provide and Apply Fertilizer within 5,757 S.F. of Maintenance per Specifications.	\$ 17.61 EA.	X3	\$ 52.83
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 3.16 LS.	X 52	\$ 164.32
				Subtotal BZ-1B	\$ 1,886.51
3.) B	ID SCH	EDULE – BZ-2 (Tract 19893):			
3.) B	ID SCH L.S.	EDULE – BZ-2 (Tract 19893): Maintain 6,700 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 135.07 L.S.	X 12	\$ 1,620.84
		Maintain 6,700 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work	L.S.	X 12	
1.	L.S.	Maintain 6,700 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting,	L.S. \$ 3.08	X 12	\$ 1,620.84 \$ 160.16
1.	L.S.	Maintain 6,700 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	L.S.		160 16

5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 3.08	X 52	\$ 160.16
			L3.	Subtotal BZ-2	\$ 2,440.64
4.) B	ID SCH	EDULE – BZ-3 (Tract 21131):			
1.	L.S.	Maintain 2,607 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 40.43 L.S.	X 12	_ _{\$} 485.16
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 1.43 L.S.	X 52	\$74.36
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 3.78 L.S	X52	_{\$} 196.56
4.	EA.	Provide and Apply Fertilizer within 2,607 S.F. of Maintenance per Specifications.	\$ 7.98 EA.	X3	<u>\$</u> 23.94
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.43 LS.	X 52	_{\$} 74.36
				Subtotal BZ-3	\$ 854.38
5) B	ND SCH	EDULE – GFBZ-4 (Tract 2028)))·		
1.	L.S.	Maintain 12,500 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 193.85 L.S.	X 12	\$ 2,326.20
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 6.87 L.S.	X 52	\$ 357.24

3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 18.1 L.S	X52	\$ 941.20
4.	EA.	Provide and Apply Fertilizer within 12,500 S.F. of Maintenance per Specifications.	\$ 38.24 EA.	X3	\$ 114.72
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 6.87 LS.	X 52	\$ 357.24
				Subtotal BZ-4	\$ 4,096.60
<u>6.) [</u>	BID SCH	EDULE - BZ-5 (Tract 20538):			
1.	L.S.	Maintain 37,065 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 747.23 L.S.	X 12	\$ 8,966.76
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 17.04 L.S.	X 52	_ _{\$} 886.08
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 47.7	X52	\$ 2,480.40
4.	EA.	Provide and Apply Fertilizer within 13,065 S.F. of Maintenance per Specifications.	\$ 94.49 EA.	X3	<u>\$</u> 283.47
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 17.04 LS.	X 52	\$ 886.08
				Subtotal BZ-5	\$ 13,502.79
7) [SID SCH	 EDULE			
1.	L.S.	Maintain 6,934 S.F. of Planter			
		Area, on a monthly and as needed basis per Specifications.	\$ 107.53 L.S.	X 12	\$ 1,290.36

2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 3.81 L.S.	X 52	\$ 198.12
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 10.04 L.S	X52	\$ 522.08
4.	EA.	Provide and Apply Fertilizer within 3,794 S.F. of Maintenance per Specifications.	\$ 21.21 EA.	X 3	\$ 63.63
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 3.81 LS.	X 52	\$ 198.12
				Subtotal BZ-8	\$ 2,272.31
8.) B	ID SCH	EDULE – BZ-9			
		<u> </u>			
1.	L.S.	Maintain 29,300 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 590.69 L.S.	X 12	\$ 7,088.28
1.		Maintain 29,300 S.F. of Planter Area, on a monthly and as needed		X 12 X 52	\$ 7,088.28 \$ 700.44
	L.S.	Maintain 29,300 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	\$ 13.47 L.S.		700.44
2.	L.S.	Maintain 29,300 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per	\$ 13.47 L.S.	X 52	\$ 700.44

				Subtotal BZ-9	\$ 10,674.18
9.) B	ID SCH	EDULE - BZ-11 (Tract 22988-	<u>1)</u>		
1.	L.S.	Maintain 23,200 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	467.71	X 12	<u>\$ 5,612.52</u>
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 10.66 L.S.	X 52	_{\$} 554.32
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 29.86 I S	X52	1,552.72 \$
4.	EA.	Provide and Apply Fertilizer within 23,200 S.F. of Maintenance per Specifications.	\$ 59.15 EA.	X 3	\$ 177.45
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$10.66	X 52	\$ 554.32
				Subtotal BZ-11	\$ 8,451.33
<u>10.)</u>	BID SCI	HEDULE – BZ-12 (Tract 22988	<u>):</u>		
1.	L.S.	Maintain 5,454 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 109.95 L.S.	X 12	\$ 1,319.40
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$2.51 L.S.	X 52	_{\$} 130.52
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 7.02 L.S	X52	\$ 365.04

4.	EA.	Provide and Apply Fertilizer within 5,454 S.F. of Maintenance per Specifications.	\$ 13.9 EA.	X3	\$ 41.70
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.51 LS.	X 52	\$ 130.52
				Subtotal BZ-12	\$ 1,987.18
11.)	BID SCI	HEDULE - BZ-13 (Tract 24081)		
1.	L.S.	Maintain 9,000 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 139.57 L.S.	X 12	\$ 1,674.84
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 4.94	X 52	_{\$} 256.88
			L.S.	X 32	ф
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 13.03	X52	\$ 677.56
4.	EA.	Provide and Apply Fertilizer within 6,800 S.F. of Maintenance per Specifications.	\$ 27.53 EA.	X 3	\$ 82.59
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 4.94	X 52	\$ 256.88
			20.	Subtotal BZ-13	\$ 2,948.75
12.)	BID SCI	HEDULE – BZ-14 (Tract 23275	/24541):		
1.	L.S.	Maintain 21,400 S.F. of Planter			
		Area, on a monthly and as needed basis per Specifications.	\$ 331.88 L.S.	X 12	\$ 3,982.56
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting,	£.3.		
		Controller Budgeting, and Work	\$ 11.70	X 52	

		Performance Reporting/Scheduling per Specifications.	L.S.		§ 611.52
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 30.99 L.S	X52	\$ 1,611.48
4.	EA.	Provide and Apply Fertilizer within 21,400 S.F. of Maintenance per Specifications.	\$ 65.47 EA.	X 3	\$196.41
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	181.076 \$ LS.	X 52	_{\$} 611.52
				Subtotal BZ-14	\$ 7,013.49
<u>13.)</u>	BID SC	HEDULE – BZ-15 (Tract 23825	<u>//1-4)</u>		
1.	L.S.	Maintain 7,974 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	\$ 91.5 L.S.	X 9	\$ 823.50
2.	L.S.	Maintain 7,974 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	\$ 91.5	X 35	\$3,202.50
3.	L.S.	Provide 7,974 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	\$ 805.19 L.S.	X 1	\$ 805.19
4.	L.S.	Maintain 14,626 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 294.86 L.S.	X 12	§ 3,538.32
5.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 10.39	X 52	_{\$} 540.28
6.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	L.S. \$ 29.08	X52	\$ 1,512.16
7.	EA.	Provide and Apply Fertilizer within 17,014 S.F. of Maintenance area per Specifications.	L.S.		172.86
			\$ 57.62	X 3	\$

			EA		
8.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 10.39 LS.	_X 52	\$ 540.28 \$ 11,135.09
				Subtotal BZ-15	\$ 11,133.09
<u>14.)</u>	BID SCI	HEDULE - BZ-16 (Tract 23838	<u>):</u>		
1.	L.S.	Maintain 9,465 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	146.79 \$ L.S.	X 12	\$1,761.48
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$5.2 L.S.	X 52	\$270.40
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$13.71 L.S	X52	\$ 712.92
4.	EA.	Provide and Apply Fertilizer within 9,465 S.F. of Maintenance per Specifications.	\$ 28.96 EA.	X3	\$86.88
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 5.2 LS.	X 52	\$ 270.40
				Subtotal BZ-16	\$ 3,102.08
<u>15.)</u>	BID SCI	HEDULE - BZ-17 (Tract 22910	<u>-1)</u>		
1.	L.S.	Maintain 5,600 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 86.85 L.S.	X 12	\$ 1,042.20
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 3.08 L.S.	X 52	\$ 160.16

3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.		X52	\$ 421.72
4.	EA.	Provide and Apply Fertilizer within 5,600 S.F. of Maintenance per Specifications.	\$ 17.13 EA.	X3	\$ 51.39
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 3.08 LS.	X 52	\$ 160.16
				Subtotal BZ-17	\$ 1,835.63
<u>16.)</u>	BID SC	HEDULE – BZ-18 (Tract 20645	<u>-2/31683):</u>		
1.	L.S.	Maintain 2,700 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 54.43 L.S.	X 12	_{\$} 653.16
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 1.24 L.S.	X 52	\$ 64.48
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 3.47 L.S	X52	\$ 180.44
4.	EA.	Provide and Apply Fertilizer within 2,700 S.F. of Maintenance per Specifications.	\$ 6.88 EA.	X3	\$ 20.64
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.24 LS.	X 52	\$ 64.48
				Subtotal BZ-18	\$
<u>17.)</u>	BID SC	HEDULE – BZ-19 (Tract 20173	<u>/20173-1-3)</u>		
1.	L.S.	Maintain 8,000 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 124.07 L.S.	X 12	\$ 1,488.84

2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 4.39 L.S.	X 52	\$228.28
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	11.59 \$ L.S	X52	\$ 602.68
4.	EA.	Provide and Apply Fertilizer within 8,000 S.F. of Maintenance per Specifications.	\$ 24.47 EA.	X 3	_{\$} 73.41
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 4.39 LS.	X 52	\$ 228.28
				Subtotal BZ-19	\$ 2,621.49
18.)	BID SCI	HEDULE – BZ-20 (Tract 24715	١٠		
		ILDOLL - DL-20 (IIIdol 247 10	<u>/·</u>		
1.	L.S.	Maintain 5,900 S.F. of Planter Area, on a monthly and as needed basis per Specifications.		X 12	\$ 1,098.00
		Maintain 5,900 S.F. of Planter Area, on a monthly and as needed	_{\$} 91.5	X 12 X 52	\$ 1,098.00 \$ 168.48
1.	L.S.	Maintain 5,900 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	\$ 91.5 L.S. \$ 3.24 L.S.		168 //8
1.	L.S.	Maintain 5,900 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per	\$ 91.5 L.S. \$ 3.24 L.S.	X 52	\$ 168.48 \$ 144.08

				Subtotal BZ-20	\$ 1,933.19
19.)	BID SCI	HEDULE - BZ-21 (Tract 20211)		
1.	L.S.	Maintain 18,478 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 372.52 L.S.	X 12	\$ 4,470.24
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$8.49 L.S.	X 52	\$ 441.48
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 23.78	X52	\$ 1,236.56
4.	EA.	Provide and Apply Fertilizer within 18,478 S.F. of Maintenance per Specifications.	\$ 47.11 EA.	X 3	\$ 141.33
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	8.49 LS.	X 52	\$ 441.48
			20.	Subtotal BZ-21	\$ 6,731.09
20.) E	BID SCH	IEDULE-BZ-22 (Tract 24809/2	4809-1-2) <u>:</u>		
1.	L.S.	Maintain 14,690 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 227.82 L.S.	X 12	\$ 2,733.84
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$8.07 L.S.	X 52	\$419.64
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 21.27 L.S	X52	\$ 1,106.04

4.	L.S.	Provide Drainage Maintenance 928 L.F. (Where Applicable) at permanent drainage structures, including concrete swales, gutters, inlets/outlets at pipe, forebays, grates, v-ditches, cross-gutters, etc. per Specifications.	\$ 34.43 L.S.	X5	_{\$} 172.15
5.	EA.	Provide and Apply Fertilizer within 14,690 S.F. of Maintenance per Specifications.	\$44.94 EA.	X 3	\$ 134.82
6.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$8.07 LS.	X 52	\$ 419.64
				Subtotal BZ-22	\$ 4,986.13
<u>21.)</u>	BID SC	HEDULE – BZ-23 (Tract 26437)		
1.	L.S.	Maintain 22,200 S.F. of Median Area, on a monthly and as needed basis per Specifications.	\$ 447.55 L.S.	X 12	\$ 5,370.60
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 10.2 L.S.	X 52	_{\$} 530.40
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 28.57 L.S	X52	\$ 1,485.64
4.	EA.	Provide and Apply Fertilizer within 22,200 S.F. of Maintenance per Specifications.	\$ 56.60 EA.	X 3	\$ 169.80
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 10.2 LS.	X 52	\$ 530.40

L.S. L.S.	EDULE-BZ-24 (Tract 24499/2 Maintain 99,700 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications. Maintain 99,700 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications. Provide 99,700 S.F of Overseeding on an annual basis prior to Nov. 15 per Specifications Maintain 66,400 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 536.11 L.S. \$ 536.11 L.S. \$ 47,17.77 L.S.	X 9 X 35	\$ 4,824.99 \$ 18,763.85 \$ 4,717.77
L.S. L.S.	Maintain 99,700 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications. Maintain 99,700 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications. Provide 99,700 S.F of Overseeding on an annual basis prior to Nov. 15 per Specifications Maintain 66,400 S.F. of Planter Area, on a monthly and as needed	\$ 536.11 L.S. \$ 536.11 L.S. \$ 47,17.77 L.S.	X 35	\$ 18,763.85
L.S. L.S.	from Nov. 1 to Feb. 28 per Specifications. Maintain 99,700 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications. Provide 99,700 S.F of Over- seeding on an annual basis prior to Nov. 15 per Specifications Maintain 66,400 S.F. of Planter Area, on a monthly and as needed	L.S. \$ 536.11 L.S. \$ 47,17.77 L.S.	X 35	\$ 18,763.85
L.S. L.S.	from Mar.1 to Oct. 31 per Specifications. Provide 99,700 S.F of Over- seeding on an annual basis prior to Nov. 15 per Specifications Maintain 66,400 S.F. of Planter Area, on a monthly and as needed	L.S. 47,17.77 L.S.		
L.S.	seeding on an annual basis prior to Nov. 15 per Specifications Maintain 66,400 S.F. of Planter Area, on a monthly and as needed	\$ 47,17.77 L.S.	X 1	<u></u> \$ 4,717.77
	Area, on a monthly and as needed			
		\$ 12,42.76	X 12	\$ 14,913.12
L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 68.55	X 52	3,564.60
L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 191.46	X52	\$ 9,955.92
EA.	Provide and Apply Fertilizer within 166,100 S.F. of Maintenance area per Specifications.	200.22	V 2	\$ 1,140.66
		EA	^3	\$ 1,140.66
LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 68.55	X 52	\$ 3,564.60
		LS.	Subtotal BZ-24	\$ 61,445.51
E	ĒA.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. EA. Provide and Apply Fertilizer within 166,100 S.F. of Maintenance area per Specifications. Irrigation repairs per Specifications, Special Provisions	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. EA. Provide and Apply Fertilizer within 166,100 S.F. of Maintenance area per Specifications. S. Irrigation repairs per Specifications, Special Provisions	L.S. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. EA. Provide and Apply Fertilizer within 166,100 S.F. of Maintenance area per Specifications. S. Irrigation repairs per Specifications, Special Provisions Section 9-D. L.S. 191.46 X52 L.S. 4 380.22 X 3 EA S. Specifications, Special Provisions Section 9-D. \$ 68.55 X 52 LS.

23.) BID SCHEDULE - BZ-27 (PM 27544)

1.	L.S.	Maintain 15,478 S.F. of Median Area, on a monthly and as needed basis per Specifications.	\$ 312.04 L.S.	X 12	\$ 3,744.48	_
2.	L.S.	Irrigation Maintenance,				

Repairs, Per Section 9-D,
Inspection, Testing, Monitoring,

\$\frac{\\$ \\$ 7.11}{\} \ X 52

		Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	L.S.		\$ 369.72
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 19.92 L.S	X52	\$ 1,035.84
4.	EA.	Provide and Apply Fertilizer within 15,708 S.F. of Maintenance per Specifications.	\$ 39.46 EA.	X 3	\$118.38
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 7.11 LS.	X 52	\$ 369.72
				Subtotal BZ-27	\$ 5,638.14
24.)	BID SCI	HEDULE – GFBZ-28 (Tract 266	<u>618)</u>		
1.	L.S.	Maintain 1,500 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	\$ 8.07 L.S.	X 9	\$ 72.63
2.	L.S.	Maintain 1,500 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	\$ 8.07 L.S.	X 35	\$ 282.45
3.	L.S.	Provide 1,500 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	70.98 L.S.	X 1	\$ 70.98
4.	L.S.	Maintain 800 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 14.97 L.S.	X 12	\$ 179.64
5.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 0.95	X 52	\$ 49.40
6.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	L.S. \$ 2.65	X52	\$ 137.80

7.	EA.	Provide and Apply Fertilizer within 2,300 S.F. of Maintenance area	L.S.		
		per Specifications.	\$5.26 EA	X3	\$ 15.78
8.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 0.95	X 52	\$ 49.40
			LS.	Subtotal BZ-28	\$ 858.08
<u>25.)</u>	BID SCI	HEDULE – BZ-35			
1.	L.S.	Maintain 4,425 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	\$ 23.79 L.S.	X 9	\$ 214.11
2.	L.S.	Maintain 4,425 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	L.S. \$ 23.79	X 35	_{\$} 832.65
0			L.S.		Ψ
3.	L.S.	Provide 4,425 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	209.39 \$ L.S.	X 1	\$ 209.39
4.	L.S.	Maintain 51,171 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 957.73 L.S.	X 12	\$ 11,492.76
5.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 22.94	X 52	_{\$} 1,192.88
6.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub,	L.S.		
		planter areas, etc. per Specifications.	\$64.08 L.S.	X52	\$ 3,332.16
7.	EA.	Provide and Apply Fertilizer within 55,596 S.F. of Maintenance area per Specifications.	\$ 127.27	X 3	_{\$} 381.81
8.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 22.94 LS.	X 52	\$ 1,192.88

26.) BID SCHEDULE - BZ-36

<u> 26.)</u>	BID SC	<u>HEDULE – BZ-36</u>			
1.	L.S.	Maintain 2,988 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 46.34 L.S.	X 12	_{\$} 556.08
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 1.64 L.S.	X 52	\$ 85.28
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 4.33 L.S	X52	\$ 225.16
4.	L.S.	Provide Drainage Maintenance 6,564 L.F. (Where Applicable) at permanent drainage structures, including concrete swales, gutters, inlets/outlets at pipe, forebays, grates, v-ditches, cross-gutters, etc. per Specifications.	\$ 244.31 L.S.	X5	\$ 1,221.55
5.	L.S.	Maintain 125,100 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	1,940.09 L.S.	X12	\$ 23,281.08
6.	EA.	Provide and Apply Fertilizer within 2,988 S.F. of Maintenance per Specifications.	\$48461 EA.	X 3	\$ 27.42
7.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.64 LS.	X 52	\$ 85.28
				Subtotal BZ-36	\$ 25,481.85

27.) BID SCHEDULE - BZ-37 (Tract 24111):

		•			
1.	L.S.	Maintain 10,630 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 214.3 L.S.	X 12	\$ 2,571.60
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 4.89 L.S.	X 52	\$ 254.28
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$13.68 L.S	X52	_{\$} 711.36
4.	L.S.	Provide Drainage Maintenance 597 L.F. (Where Applicable) at permanent drainage structures, including concrete swales, gutters, inlets/outlets at pipe, forebays, grates, v-ditches, cross-gutters, etc. per Specifications.	\$ 28.89 L.S.	X5	_{\$} 144.45
5.	EA.	Provide and Apply Fertilizer within 10,630 S.F. of Maintenance per Specifications.	\$ 27.1 EA.	X 3	_{\$} 81.30
6.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 4.89 LS.	X 52	\$ 254.28
				Subtotal BZ-37	\$ 4,017.27
<u>28.)</u>	BID SC	HEDULE - BZ-39 (Tract 30382	2)		
1.	L.S.	Maintain 5,000 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 77.54 L.S.	X 12	\$ 930.48
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 2.75	X 52	\$ 143.00

			L.S.		
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 7.24 L.S	X52	<u>\$</u> 376.48
4.	L.S.	Maintain 4,900 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	\$ 75.99	X12	\$ 911.88
_			L.S.	_	
5.	EA.	Provide and Apply Fertilizer within 5,000 S.F. of Maintenance per Specifications.	\$ 15.3 EA.	X 3	\$ 45.90
6.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.75 LS.	X 52	\$ 143.00
				Subtotal BZ-39	\$ 2,550.74
		UEDIU E DZ 40 /T 400444		Subtotal BZ-39	\$ 2,550.74
<u>29.)</u>		HEDULE - BZ-40 (Tract 30144	<u>):</u>	Subtotal BZ-39	\$ 2,550.74
29.) 1.	BID SC L.S.	HEDULE – BZ-40 (Tract 30144 Maintain 8,100 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	<u>}:</u> 	Subtotal BZ-39 X 12	\$ 2,550.74 \$1,959.60
		Maintain 8,100 S.F. of Planter Area, on a monthly and as needed	_{\$} 163.3		
1.	L.S.	Maintain 8,100 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per	\$ 163.3 L.S. \$ 3.72 L.S.	X 12 X 52	\$1,959.60 \$193.44
1.	L.S.	Maintain 8,100 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub,	\$163.3 L.S.	X 12	\$1,959.60
1.	L.S.	Maintain 8,100 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per	\$ 163.3 L.S. \$ 3.72 L.S.	X 12 X 52	\$1,959.60 \$193.44

_					
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$3.72 LS.	X 52	\$ 193.44
				Subtotal BZ-40	\$ 2,950.27
<u>30.)</u>	BID SCI	HEDULE-BZ-42 (Tract 30380):			
1.	L.S.	Maintain 4,500 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	¢ 24.2	X 9	_{\$} 217.80
		•	\$ 24.2 L.S.		Ψ
2.	L.S.	Maintain 4,500 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	\$ 24.2	X 35	\$ 847.00
3.	L.S.	Provide 4,500 S.F of Over-seeding	L.S.		
o .	2.0.	on an annual basis prior to Nov. 15 per Specifications	\$ 212.94	X1	\$ 212.94
4.	L.S.	Maintain 29,127 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 545.15	X 12	_{\$} 6,541.80
5.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work	L.S.		
		Performance Reporting/Scheduling per Specifications.	\$ 13.88 L.S.	X 52	_{\$} 721.76
6.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per			0.045.50
		Specifications.	\$38.76 L.S.	X52	\$ 2,015.52
7.	EA.	Provide and Apply Fertilizer within 33,627 S.F. of Maintenance area	L.S.		
		per Specifications.	\$ 76.98 EA	X 3	\$ 230.94
8.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 13.88	X 52	_{\$} 721.76
		2334011 0 21	LS.		<u> </u>
				Subtotal BZ-42	\$ 11,509.52

31.) BID SCHEDULE - BZ-49 (Tract 30751):

1.	L.S.	Maintain 8,610 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 173.58 L.S.	X 12	\$2,082.96
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 3.96 L.S.	X 52	\$ 205.92
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 11.08 L.S	X52	\$ 576.16
4.	EA.	Provide and Apply Fertilizer within 8,610 S.F. of Maintenance per Specifications.	\$ 21.95 EA.	X 3	\$ 65.85
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 3.96 LS.	X 52	\$ 205.92
				Subtotal BZ-49	\$ 3,136.81
<u>32.)</u>	BID SC	HEDULE – BZ-50 (Tract 30490)	Subtotal BZ-49	\$ 3,136.81
32.) 1.	BID SC L.S.	HEDULE – BZ-50 (Tract 30490 Maintain 1,520 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	\$ 8.17	Subtotal BZ-49 X 9	\$ 3,136.81 \$ 73.53
		Maintain 1,520 S.F. of Turf Area from Nov. 1 to Feb. 28 per	\$ 8.17 L.S. \$ 8.17		
1.	L.S.	Maintain 1,520 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications. Maintain 1,520 S.F. of Turf Area from Mar.1 to Oct. 31 per	\$ 8.17 L.S. \$ 8.17 L.S. 71.93	X 9	\$ 73.53
1.	L.S.	Maintain 1,520 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications. Maintain 1,520 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications. Provide 1,520 S.F of Over-seeding on an annual basis prior to Nov. 15	\$ 8.17 L.S. \$ 8.17 L.S. 71.93	X 9 X 35	\$ 73.53 \$ 285.95

6.	L.S	Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	L.S. 67.59 \$	X52	\$ 3,514.68
7.	EA.	Provide and Apply Fertilizer within 58,640 S.F. of Maintenance area per Specifications.	\$ 134.23 EA	X 3	\$ 402.69
8.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$24.2 LS.	X 52 Subtotal BZ-50	\$ 1,258.40 \$ 19,694.42
<u>33.)</u>	BID SCI	HEDULE - BZ-51 (Tract 31114	<u>):</u>		
1.	L.S.	Maintain 7,930 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 122.98 L.S.	X 12	\$ 1,475.76
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 4.36 L.S.	X 52	\$ 226.72
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 11.48 L.S	X52	\$ 596.96
4.	EA.	Provide and Apply Fertilizer within 7,930 S.F. of Maintenance per Specifications.	\$ 24.26 EA.	X3	\$ 72.78
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 4.36 LS.	X 52	\$ 226.72
				Subtotal BZ-51	_{\$} 2,598.94

34.) BID SCHEDULE - BZ-52

<u>34.)</u>	<u> </u>	HEDULE - BZ-32			
1.	L.S.	Maintain 169,999 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 3,427.19 L.S.	X 12	\$ 41,126.28
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 78.14 L.S.	X 52	\$ 4,063.28
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$218.78 L.S	X52	\$ 11,376.56
4.	L.S.	Maintain 23,500 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid	473 76		
		monthly, per Specifications.	\$ 473.76 L.S.	X12	\$ 5,685.12
5.	EA.	Provide and Apply Fertilizer within 169,999 S.F. of Maintenance per Specifications.	\$ 433.39 EA.	X 3	\$ 1,300.17
6.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 78.14 LS.	X 52	\$ 4,063.28
				Subtotal BZ-52	\$ 67,614.69
<u>35.)</u>	BID SC	HEDULE – BZ-53			
1.	L.S.	Maintain 352,047 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	5,459.65 L.S.	X 12	\$ 65,515.80
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work	_{\$} 193.39	X 52	

		Performance Reporting/Scheduling per Specifications.			\$ 10,056.28
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	509.81 L.S	X52	\$ 26,510.12
4.	L.S.	Provide Drainage Maintenance 7,313 L.F. (Where Applicable) at permanent drainage structures, including concrete swales, gutters, inlets/outlets at pipe, forebays, grates, v-ditches, cross-gutters, etc. per Specifications.	\$ 272.19 L.S.	X 5	\$ 1,360.95
5.	L.S.	Maintain 510,911 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid			95,080.20
		monthly, per Specifications.	\$ 7,923.35 L.S.	X12	\$ 3,000.20
6.	EA.	Provide and Apply Fertilizer within 352,047 S.F. of Maintenance per Specifications.	\$ 1,076.99 EA.	X 3	\$ 3,230.97
7.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 193.39 LS.	X 52	\$10,056.28
				Subtotal BZ-53	\$ 211,810.60
36 \	BID SCI	HEDULE – BZ-54 (Tract 31678	١		
1.	L.S.	Maintain 8,525 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 132.21 L.S.	X 12	_{\$} 1,586.52
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	4.00		242.20
		per Specifications.	\$ 4.68 L.S.	X 52	\$ 243.36

3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 12.35 L.S	X52	\$ 642.20
4.	L.S.	Maintain 28,000 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	\$ 43.42	X12	\$ 521.04
5.	EA.	Provide and Apply Fertilizer within 8,525 S.F. of Maintenance per Specifications.	L.S. \$ 26.08 EA.	X3	\$ 78.24
6.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 4.68 LS.	X 52	_{\$} 243.36
				Subtotal BZ-54	\$ 3,314.72
		<u> IEDULE – BZ-55:</u>			
1.	L.S.	Maintain 13,233 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 205.22 L.S.	X 12	\$2,462.64
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 7.27 L.S.	X 52	\$ 378.04
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 19.16 L.S	X52	\$ 996.32
4.	EA.	Provide and Apply Fertilizer within 13,233 S.F. of Maintenance per Specifications.	\$ 40.48 EA.	X 3	<u></u> \$ 121.44
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	7.27 \$ LS.	X 52	\$ 378.04

38.) BID SCHEDULE - BZ-56 (Tract 31201):

1.	L.S.	Maintain 11,810 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 183.15 L.S.	X 12	\$ 2,197.80
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 6.49 L.S.	X 52	\$ 337.48
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 17.1 L.S	X52	\$ 889.20
4.	L.S	Maintain 5,625 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	\$ 87.23 L.S.	X12	_{\$} 1,046.76
5.	EA.	Provide and Apply Fertilizer within 11,810 S.F. of Maintenance per Specifications.	\$36.13 EA.	X 3	\$ 108.39
6.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 6.49 LS.	X 52	\$ 337.48

39.) BID SCHEDULE - BZ-57 (Tract 31178)

1.	L.S.	Maintain 5,400 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	\$ 29.04 L.S.	X 9	\$ 261.36
2.	L.S.	Maintain 5,400 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	29.04	X 35	_{\$} 1,016.40

3.	L.S.	Provide 5,400 S.F of Over-seeding	L.S.		
J.	L.O.	on an annual basis prior to Nov. 15	055.50		255.53
		per Specifications	\$ 255.53	X 1	\$
4.	L.S.	Maintain 53,280 S.F. of Planter	L.S.		
4.	L.G.	Area, on a monthly and as needed			44.000.40
		basis per Specifications.	\$ 997.2	X 12	_{\$} 11,966.40
5.	L.S.	lucionation Maintenana	L.S.		
5.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D,			
		Inspection, Testing, Monitoring,			
		Reporting, EMWD Water Budgeting, Water Reporting,			
		Controller Budgeting, and Work			
		Performance Reporting/Scheduling	. 24.22		s 1,259.44
		per Specifications.	\$ 24.22 L.S.	X 52	\$ 1,259.44
c		Pick up trash and debris and weed	L.G.		
6.	L.S	abate hardscape, turf, shrub,			
		planter areas, etc. per Specifications.	\$ 67.64	X52	_{\$} 3,517.28
		oposinoatione.	L.S.	7.02	Ψ
7.	EA.	Provide and Apply Fertilizer within			
		58,680 S.F. of Maintenance area per Specifications.			
		•	_{\$} 134.33	X 3	_{\$} 402.99
8.	LS.	Irrigation ranging per	EA		
Ο.	LS.	Irrigation repairs per Specifications, Special Provisions	04.00		
		Section 9-D.	\$ 24.22	X 52	\$ 1,259.44
			LS.	Subtotal BZ-57	_{\$} 19,938.84
				Oubtotal BE-31	φ
40 \	DID CC	UEDIU E - DZ 50 /T at 20 425	١.		
<u>40.)</u>		<u> HEDULE – BZ-59 (Tract 29425</u>	<u>):</u>		
1.	L.S.	Maintain 65,515 S.F. of Planter			
		Area and Median, on a monthly and as needed basis per	1,320.79		
		Specifications.	\$	X 12	\$ 15,849.48
2.	L.S.	Irrigation Maintenance,	L.S.		
۷.	L.O.	Repairs, Per Section 9-D,			
		Inspection, Testing, Monitoring,			
		Reporting, EMWD Water Budgeting, Water Reporting,			
		Controller Budgeting, and Work			
		Performance Reporting/Scheduling	30.11	V 50	\$ 1,565.72
		per Specifications.	 L.S.	X 52	\$ 1,565.72
3.	L.S.	Pick up trash and debris and weed			
		abate hardscape, turf, shrub,			
		planter areas, etc. per Specifications.	\$ 84.31	X52	_{\$} 4,384.12
		epolitication.	L.S.	7.02	

4.	EA.	Provide and Apply Fertilizer within 65,515 S.F. of Maintenance area per Specifications.	\$ 167.02 EA.	X 3	\$ 501.06
5.	L.S.	Maintain 5,200 S.F. of Planter Area within Bio-swale per Specifications.	\$ 104.83 L.S.	X 12	\$ 1,257.96
6.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 30.11 LS.	X 52	\$ 1,565.72
				Subtotal BZ-59	\$ 25,124.06
<u>41.)</u>	BID SC	HEDULE - BZ-60 (Tract 30773	<u>/31416)</u>		
1.	L.S.	Maintain 23,110 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	\$ 265.18 L.S.	X 9	\$ 2,386.62
2.	L.S.	Maintain 23,110 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	265.18 \$ L.S.	X 35	\$ 9,281.30
3.	L.S.	Provide 23,110 S.F of Over- seeding on an annual basis prior to Nov. 15 per Specifications	\$ 2,333.58	X 1	\$ 2,333.58
4.	L.S.	Maintain 79,395 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 1,600.61 L.S.	X 12	_{\$} 19,207.32
5.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	47.11 \$ L.S.	X 52	\$ 2,449.72
6.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 131.92	X52	_\$ 6,859.84
7.	EA.	Provide and Apply Fertilizer within 102,505 S.F. of Maintenance area per Specifications.	L.S. \$ 261.32 EA	X3	_{\$} 783.96

8.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 47.11 LS.	X 52 Subtotal BZ-60	\$ 2,449.72 \$ 45,752.06
<u>42.)</u>	BID SCI	HEDULE - BZ-63 (Tract 32262	<u>):</u>		
1.	L.S.	Maintain 3,671 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	\$ 19.74 L.S.	X 9	\$ 177.66
2.	L.S.	Maintain 3,671 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	\$ 19.74 L.S.	X 35	\$ 690.90
3.	L.S.	Provide 3,671 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	\$ 173.71 L.S.	X 1	\$ 173.71
4.	L.S.	Maintain 28,010 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 524.24	X 12	\$ 6,290.88
5.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 13.07	X 52	<u>\$</u> 679.64
6.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 36.52 L.S.	X52	<u></u> \$ 1,899.04
7.	EA.	Provide and Apply Fertilizer within 31,681 S.F. of Maintenance area per Specifications.	\$ 72.52	X3	<u>\$</u> 217.56
8.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	13.07 \$ LS.	X 52	\$ 679.64
				Subtotal BZ-63	\$ 10,809.03
43.)	BID SCI	HEDULE – BZ-65 and BZ-89			
1.	L.S.	Maintain 5,213 S.F. of Concrete Median and Planter Area, on a	\$ 97.57	X 12	

2.	L.S.	monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D,	L.S.		\$ 1,170.84
		Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 2.15 L.S.	X 52	111.80 \$
3.	EA.	Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications.	11.93 \$ EA.	X3	35.79 \$
4.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.15 LS.	X 52	\$ 111.80
				Subtotal BZ-65/89	1,430.23
<u>44.)</u>	BID SC	HEDULE – BZ-66 (Tract 32793	<u>/33720)</u>		
1.	L.S.	Maintain 9,240 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 186.28 L.S.	X 12	\$ 2,235.36
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting,	2.0.		
		Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 4.25	X 52	\$ 221.00
3.	L.S.	Performance Reporting/Scheduling	\$ 4.25 L.S. \$11.89 L.S	X 52 X52	\$ 221.00 \$ 618.28
3.4.	L.S. EA.	Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per	L.S. \$11.89		

				Subtotal BZ-66	\$ 3,366.32
<u>45.)</u>	BID SC	CHEDULE – BZ-67 (PM 31832):			
1.	L.S.	Maintain 8,050 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	\$ 150.67 L.S.	X 12	\$ 1,808.04
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling			
		per Specifications.	\$ 3.32 L.S.	X 52	\$ 172.64
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	9.28	X52	_{\$} 482.56
		·	L.S		Ψ
4.	EA.	Provide and Apply Fertilizer within 8,050 S.F. of Maintenance per Specifications.	\$ 18.43	X3	_{\$} 55.29
5.	LS.	Irrigation repairs per	EA.		
		Specifications, Special Provisions Section 9-D.	\$ 3.32 LS.	X 52	_{\$} 172.64
			20.	Subtotal BZ-67	\$ 2,691.17
16 .)	BID SC	HEDULE – BZ-69:			
1.	L.S.	Maintain 7,026 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 108.96 L.S.	X 12	\$ 1,307.52
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work			
		Performance Reporting/Scheduling per Specifications.	\$ 3.86 L.S.	X 52	\$ 200.72

3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	10.17 \$ LS	X52	\$ 528.84
4.	L.S.	Maintain 2,400 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid	\$ 37.22	V40	D 446 64
		monthly, per Specifications.	L.S.	X12	\$ 446.64
5.	EA.	Provide and Apply Fertilizer within 7,026 S.F. of Maintenance per Specifications.	\$ 21.49 EA.	X 3	\$ 64.47
6.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 3.86 LS.	X 52	\$ 200.72
				Subtotal BZ-69	\$ 2,748.91
47.)			'/^^=		
		HEDULE - BZ-70 (Tract 32707	<u>/32/08)</u>		
1.	L.S.	Maintain 108,548 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	2,031.62 \$ L.S.	X 12	\$ 24,379.44
		Maintain 108,548 S.F. of Planter and Median Area, on a monthly and as needed basis per	2,031.62 \$ L.S.	X 12 X 52	\$ 24,379.44 \$ 2,329.60
1.	L.S.	Maintain 108,548 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	2,031.62 L.S. \$44.8 L.S.		
2.	L.S.	Maintain 108,548 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per	2,031.62 \$ L.S.	X 52	\$ 2,329.60

LS.		
	Subtotal BZ-70	_{\$} 36,290.32

48.) BID SCHEDULE - BZ-71 (Tract 32780):

1.	L.S.	Maintain 51,760 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$1,043.49 L.S.	X 12	\$ 12,521.88
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	<u>\$ 23.79</u>	X 52	\$ 1,237.08
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 66.61	X52	_{\$} 3,463.72
			L.S		
4.	EA.	Provide and Apply Fertilizer within 51,760 S.F. of Maintenance per Specifications.	\$ 131.96 EA.	X 3	\$ 395.88
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 23.79	X 52	_{\$} 1,237.08
			LO.	Subtotal BZ-71	\$ 18,855.64
40 \	DID 00	NIEDIU E - DZ Z0 (T.:. : 1 00040			
<u>49.)</u>	BID SC	<u> HEDULE – BZ-72 (Tract 32249</u>	1		
1.	L.S.	Maintain 65,995 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 1,330.46 L.S.	X 12	\$ 15,965.52
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work			

\$ 30.33

L.S.

X 52

1,577.16

Performance Reporting/Scheduling

per Specifications.

3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 84.93 L.S	X52	\$ 4,416.36			
4.	EA.	Provide and Apply Fertilizer within 65,995 S.F. of Maintenance per Specifications.	\$168.25 EA.	X 3	\$ 504.75			
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 30.33 LS.	X 52	\$ 1,577.16			
				Subtotal BZ-72	\$ 24,040.95			
<u>50.)</u>	50.) BID SCHEDULE – BZ-73 (Tract 31660)							
1.	L.S.	Maintain 21,978 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 443.08 L.S.	X 12	\$ 5,316.96			
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 10.1	X 52	\$ 525.20			
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	L.S. \$ 28.28	X52	_{\$} 1,470.56			
4.	EA.	Provide and Apply Fertilizer within 21,978 S.F. of Maintenance per Specifications.	\$ 56.03 EA.	X 3	_{\$} 168.09			
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 10.1 LS.	X 52	\$ 525.20			
				Subtotal BZ-73	\$ 8,006.01			
51.) BID SCHEDULE – BZ-74 (Tract 32428):								
1.	L.S.	Maintain 25,265 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 509.34 L.S.	X 12	\$ 6,112.08			
2.	L.S.	Irrigation Maintenance,	\$ 11.61	X 52				

		Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.			\$ 603.72
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 32.51 L.S	X52	\$ 1,690.52
4.	EA.	Provide and Apply Fertilizer within 25,265 S.F. of Maintenance per Specifications.	64.41 \$EA.	X 3	\$ 193.23
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 11.61 LS.	X 52	\$ 603.72
				Subtotal BZ-74	\$ 9,203.27
<u>52.)</u>	BID SCI	HEDULE – BZ-75			
1.	L.S.	Maintain 181,452 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	\$ 2,814.01 _ L.S.	X 12	\$ 33,768.12
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$99.68 L.S.	X 52	5,183.36 _\$
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	262.77 \$ L.S	X52	\$ 13,664.04
4.	L.S.	Provide Drainage Maintenance 603 L.F. (Where Applicable) at permanent drainage structures, including concrete swales, gutters, inlets/outlets at pipe, forebays, grates, v-ditches, cross-gutters, etc. per Specifications.	\$ 22.44 L.S.	X5	_{\$} 112.20

5.	L.S.	Maintain 79,565 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	\$ 1,233.92 L.S.	X12	\$ 14,807.04
6.	EA.	Provide and Apply Fertilizer within 181,452 S.F. of Maintenance per Specifications.	\$ 555.1 EA.	X 3	\$ 1,665.30
7.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 99.68 LS.	X 52	\$ 5,183.36
				Subtotal BZ-75	\$ 74,383.42
<u>53.)</u>	BID SCI	HEDULE – BZ-76			
1.	L.S.	Maintain 1,604 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	\$32.34 L.S.	X 12	\$ 388.08
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	0.74 \$ L.S.	X 52	_\$ 38.48
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 2.06 L.S	X52	<u>\$ 107.12</u>
4.	EA.	Provide and Apply Fertilizer within 1,604 S.F. of Maintenance per Specifications.	\$ 4.09 EA.	X 3	\$ 12.27
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 0.74 LS.	X 52	\$ 38.48
			20.	Subtotal BZ-76	\$ 584.43

54.) BID SCHEDULE - BZ-80 (Tract 33266)

1.	L.S.	Maintain 17,349 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	\$ 269.05 L.S.	X 12	\$ 3,228.60
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 9.53 L.S.	X 52	\$ 495.56
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 25.12	X52	\$ 1,306.24
4.	EA.	Provide and Apply Fertilizer within 17,349 S.F. of Maintenance per Specifications.	\$ 53.07 EA.	X 3	\$ 159.21
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	9.53 LS.	X 52	\$ 495.56
				Subtotal BZ-80	\$ 5,685.17
<u>55.)</u>	BID SCI	HEDULE – BZ-81 (PM 34082):			
1.	L.S.	Maintain 7,000 C.E. of Diantan			
		Maintain 7,900 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 122.52 L.S.	X 12	\$ 1,470.24
2.	L.S.	Area, on a monthly and as needed	\$ L.S. 4.34	X 12	\$ 1,470.24 \$ 225.68
 3. 	L.S.	Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	L.S.		225.68

			EA.		
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 4.34 LS.	X 52	\$ 225.68
			LO.	Subtotal BZ-81	\$ 2,588.99
<u>56.)</u>	BID SC	HEDULE – BZ-84 (DPR 04-046	<u>4)</u>		
1.	L.S.	Maintain 5,825 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	\$ 109.02 L.S.	X 12	\$ 1,308.24
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 2.4 I.S	X 52	\$ 124.80
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 6.71 L.S	X52	\$ 348.92
4.	EA.	Provide and Apply Fertilizer within 5,825 S.F. of Maintenance per Specifications.	\$ 13.33 EA.	X3	\$ 39.99
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.4 LS.	X 52	\$ 124.80
				Subtotal BZ-84	\$ 1,946.75
57.)	BID SC	HEDULE – BZ-8 <u>5</u>			
1.	L.S.	Maintain 7,940 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 148.61 L.S.	X 12	\$ 1,783.32
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 3.28	X 52	\$ 170.56

			L.S.		
3.		Pick up trash and debris and weed abate hardscape, turf, shrub,			
5.	L.S.	planter areas, etc. per			475.00
		Specifications.	_{\$} 9.15	X52	_{\$} 475.80
4	Γ Λ	Describe and Assolute Contilination with in	L.S		
4.	EA.	Provide and Apply Fertilizer within 7,940 S.F. of Maintenance per			
		Specifications.	\$ 18.18	X 3	\$ 54.54
			EA.		
5.	LS.	Irrigation repairs per			
		Specifications, Special Provisions Section 9-D.	_{\$} 3.28	X 52	\$ 170.56
		- Coulon o D.	LS.		
				0.14.4.107.05	_{\$} 2,654.78
				Subtotal BZ-85	\$ =,00 0
<u>58.)</u>	BID SCI	HEDULE – BZ-86			
1.	L.S.	Maintain 63,273 S.F. of Median			
		Planter Area, on a monthly and as	004.06		11 77E 10
		needed basis per Specifications.	\$ 981.26	X 12	\$ 11,775.12
2.	L.S.	Irrigation Maintenance,	L.S.		
	2.0.	Repairs, Per Section 9-D,			
		Inspection, Testing, Monitoring,			
		Reporting, EMWD Water Budgeting, Water Reporting,			
		Controller Budgeting, and Work			
		Performance Reporting/Scheduling	_e 34.76	V 50	¢ 1,807.52
		per Specifications.	\$ L.S.	X 52	\$ 1,007.52
		Pick up trash and debris and weed	L.O.		
3.	L.S.	abate hardscape, turf, shrub,			
		planter areas, etc. per Specifications.	_{\$} 91.63	X52	_{\$} 4,764.76
		oposinoatione.	L.S	7102	Ψ ,
4.	EA.	Provide and Apply Fertilizer within			
		58,116 S.F. of Maintenance per Specifications.	\$ 193.57	X 3	_{\$} 580.71
		opcomodiono.	EA.		Ψ
5.	LS.	Irrigation repairs per			
		Specifications, Special Provisions	\$ 34.76	V 50	\$ 1,807.52
		Section 9-D.	LS.	X 52	\$ 1,007.02
			20.		20 725 62
				Subtotal BZ-86	\$ 20,735.63
<u>59.)</u>	BID SCH	<u> 1EDULE – BZ-87</u>			
1.	L.S.	Maintain 9,970 S.F. of Median			
1.	L.O.	Planter Area, on a monthly and as	105 5		
		needed basis per Specifications.	\$ 186.6	X 12	\$ 2,239.20

			L.S.		
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 4.11 L.S.	X 52	\$ 213.72
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 11.49 L.S	X52	_ _{\$} 597.48
4.	EA.	Provide and Apply Fertilizer within 9,970 S.F. of Maintenance per Specifications.	\$ 22.82 EA.	X3	_{\$} 68.46
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 4.11 LS.	X 52	_{\$} 213.72
				Subtotal BZ-87	\$ 3,332.58
60.)	BID SC	HEDULE – BZ-90			
1.	L.S.	Maintain 12,770 S.F. of Median			
1.	L. G .	Planter Area, on a monthly and as needed basis per Specifications.	\$ 239.01 L.S.	X 12	\$ 2,868.12
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	5.27 \$ L.S.	X 52	\$ 274.04
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 14.72 L.S	X52	<u>\$ 765.44</u>
4.	EA.	Provide and Apply Fertilizer within 6,000 S.F. of Maintenance per Specifications.	L.S \$ 29.23 EA.	X 3	\$ 87.69
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 5.27	X 52	\$ 274.04
			LS.		

Subtotal BZ-90 \$ 4,269.33

<u>61.)</u>	BID SC	HEDULE – BZ-91			
1.	L.S.	Maintain 14,327 S.F. of Median and Planter Area, on a monthly and as needed basis per Specifications.	\$ 222.19	X 12	\$ 2,666.28
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	7.87 \$ L.S.	X 52	\$ 409.24
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 20.75	X52	\$ 1,079.00
4.	EA.	Provide and Apply Fertilizer within 5,490 S.F. of Maintenance per Specifications.	\$ 43.83 EA.	X 3	\$ 131.49
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 7.87 LS.	X 52	\$ 409.24
				Subtotal BZ-91	\$ 4,695.25
<u>62.)</u>	BID SC	HEDULE – BZ-92			
1.	L.S.	Maintain 2,441 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 37.86 L.S.	X 12	\$ 454.32
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 1.34	X 52	\$ 69.68

			L.S.		
•		Pick up trash and debris and weed			
3.	L.S.	abate hardscape, turf, shrub,			
		planter areas, etc. per Specifications.	_{\$} 3.53	X52	_{\$} 183.56
		opcomodiono.	L.S	AOL	
4.	EA.	Provide and Apply Fertilizer within			
		2,441 S.F. of Maintenance per	• 7 <i>1</i> 7		_{\$} 22.41
		Specifications.	\$7.47 EA.	X 3	\$22.41
5.	LS.	Irrigation repairs per			
Э.	LO.	Specifications, Special Provisions	1.34		
		Section 9-D.	\$	X 52	\$ 69.68
			LS.		
				Cubtotal D7 00	799.65
				Subtotal BZ-92	\$
63.)	BID SCI	HEDULE – BZ-93			
1.	L.S.	Maintain 967 S.F. of Planter Area,			
١.	L.O.	on a monthly and as needed basis			
		per Specifications.	_{\$} 15.00	X 12	\$ 180.00
_			L.S.		
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D,			
		Inspection, Testing, Monitoring,			
		Reporting, EMWD Water			
		Budgeting, Water Reporting,			
		Controller Budgeting, and Work			
		Performance Reporting/Scheduling per Specifications.	s 0.53	X 52	_{\$} 27.56
		por oposinicationis.	L.S.	N OL	Ψ
		Pick up trash and debris and weed			
3.	L.S.	abate hardscape, turf, shrub,			
		planter areas, etc. per Specifications.	_¢ 1.40	X52	¢ 72.80
		opedifications.	L.S	ΛΟΣ	Ψ
4.	EA.	Provide and Apply Fertilizer within			
		967 S.F. of Maintenance per	* 2.06	V 0	£ 8.88
		Specifications.	\$ 2.96 EA.	X 3	\$ 0.00
5.	LS.	Irrigation repairs per			
Э.	LO.	Specifications, Special Provisions			
		Section 9-D.	\$ 0.53	X 52	\$ 27.56
			LS.		
				Subtotal B7-03	_{\$} 316.80
				Subtotal BZ-93	Φ
<u>64.)</u>	BID SCI	HEDULE – BZ-94			
1.	L.S.	Maintain 75,274 S.F. of Planter			
	·	and Median Area, on a monthly			
		and as needed basis per	* 4 400 OF	V 45	•
		Specifications.	<u>\$ 1,408.85</u>	X 12	\$16,906.20

3. L.S. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. 4. EA. Provide and Apply Fertilizer within 63,628 S.F. of Maintenance per Specifications. 5. LS. Irrigation repairs per Specifications, Special Provisions Section 9-D. 65.) BID SCHEDULE – BZ-95 1. L.S. Maintain 2,932 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications. 2. L.S. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. \$4.25						
Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. L.S. Provide and Apply Fertilizer within 63,628 S.F. of Maintenance per Specifications. L.S. Irrigation repairs per Specifications, Special Provisions Section 9-D. L.S. Subtotal BZ-94 \$ 25,166. Subtotal BZ-94 \$ 545.64 L.S. Maintain 2,932 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications. L.S. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Subtotal BZ-94 \$ 1,615.64 L.S. Subtotal BZ-94 \$ 25,166.	2.	L.S.	Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting,	L.S.		
3. L.S. abate hardscape, turf, shrub, planter areas, etc. per Specifications. \$86.77			Performance Reporting/Scheduling	Ψ	X 52	\$ 1,615.64
4. EA. Provide and Apply Fertilizer within 63,628 S.F. of Maintenance per Specifications. 5. LS. Irrigation repairs per Specifications, Special Provisions Section 9-D. 65.) BID SCHEDULE – BZ-95 1. L.S. Maintain 2,932 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications. 2. L.S. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. 2. L.S. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. 2. L.S. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. 4.25 X52 \$ 221.00	3.	L.S.	abate hardscape, turf, shrub, planter areas, etc. per		X52	\$ 4,512.04
Specifications, Special Provisions Section 9-D. Specifications, Special Provisions Section 9-D. Subtotal BZ-94 \$ 25,166. Subtotal BZ-94 \$ 25,166. Subtotal BZ-94 \$ 25,166. L.S. Maintain 2,932 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications. L.S. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. L.S. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. \$ 4.25	4.	EA.	63,628 S.F. of Maintenance per	\$ 172.31	X3	\$ 516.93
Subtotal BZ-94 \$ 25,166. 65.) BID SCHEDULE – BZ-95 1. L.S. Maintain 2,932 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications. \$ 45.47	5.	LS.	Specifications, Special Provisions	Ψ	X 52	\$ 1,615.64
1. L.S. Maintain 2,932 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications. 2. L.S. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. \$ 45.47				20.	Subtotal BZ-94	\$ 25,166.45
Median Area, on a monthly and as needed basis per Specifications. 2. L.S. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. \$ 45.47 X 12 \$ 545.64 X 12 \$ 545.64 L.S. \$ 83.72 \$ 83.72	<u>65.)</u>	BID SCI	HEDULE – BZ-95			
2. L.S. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. 1.61 \$ X 52 \$ 83.72 L.S. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. \$ 4.25	1.	L.S.	Median Area, on a monthly and as		X 12	\$ 545.64
Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. 4.25 X52 \$ 221.00	2.	L.S.		2.0.		
			Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	\$	X 52	<u>\$</u> 83.72
4. EA. Provide and Apply Fertilizer within 1,338 S.F. of Maintenance per Specifications. \$8.97 X3 \$26.91	3.	L.S.	Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per	\$ L.S. \$ 4.25		Φ
5. LS. Irrigation repairs per Specifications, Special Provisions Section 9-D. \$ 1.61 X 52 \$ 83.72			Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 1,338 S.F. of Maintenance per	\$ L.S. \$ 4.25 L.S \$ 8.97	X52	\$ 221.00

				Subtotal BZ-95	\$ 960.99
66.)	BID SCI	HEDULE – BZ-96			
1.	L.S.	Maintain 36,012 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 674.01 L.S.	X 12	\$8,088.12
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 14.86 L.S.	X 52	\$ 772.72
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 41.51 L.S	X52	\$ 2,158.52
4.	EA.	Provide and Apply Fertilizer within 36,012 S.F. of Maintenance per Specifications.	\$ 82.44 EA.	Х3	\$ 247.32
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 14.86 LS.	X 52	\$ 772.72
				Subtotal BZ-96	\$ 12,039.40
<u>67.)</u>	BID SCI	HEDULE – BZ-97 (PM 34131)			
1.	L.S.	Maintain 58,5332 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.		X 12	\$ 14,160.12
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 26.90	X 52	\$ 1,398.80
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	L.S. \$	X52	\$

4.	EA.	Provide and Apply Fertilizer within 48,274 S.F. of Maintenance per	L.S		
		Specifications.	\$ 75.33 EA.	X 3	\$ 149.22
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 26.90 LS.	X 52	\$ 1,398.80
				Subtotal BZ-97	\$ 21,322.54
<u>68.)</u>	BID SCI	HEDULE - BZ-98			
1.	L.S.	Maintain 15,013 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.		X 12	\$ 2,793.96
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 8.25	X 52	\$ 429.00
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	L.S. 21.74 \$ L.S	X52	\$ 1,130.48
4.	EA.	Provide and Apply Fertilizer within 13,117 S.F. of Maintenance per Specifications.	45.93 \$ EA.	X 3	<u>\$</u> 137.79
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	8.25 \$ LS.	X 52	\$429.00
				Subtotal BZ-98	\$ 4,920.23
<u>69.)</u>	BID SCI	HEDULE – BZ-99			
1.	L.S.	Maintain 6,280 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 126.61 L.S.	X 12	\$ 1,519.32
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water	\$ 2.89	X 52	

		Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	L.S.		\$ 150.28
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 8.08	X52	\$ 420.16
4.	EA.	Provide and Apply Fertilizer within 6,280 S.F. of Maintenance per Specifications.	\$ 16.01 EA.	X3	\$ 48.03
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.89 LS.	X 52	\$ 150.28
				Subtotal BZ-99	\$ 2,288.07
<u>70.)</u>	BID SC	HEDULE – BZ-100			
1.	L.S.	Maintain 2,120 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 32.88 L.S.	X 12	_{\$} 394.56
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	1.16		60.32
		per Specifications.	\$ 1.10 L.S.	X 52	\$ 60.32
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 3.07 L.S	X52	\$ 159.64
4.	EA.	Provide and Apply Fertilizer within 2,120 S.F. of Maintenance per Specifications.	\$ 6.49 EA.	X3	\$ 19.47
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.16 LS.	X 52	\$ 60.32
				Subtotal BZ-100	\$ 694.31

1.	L.S.	Maintain 112 S.F. of Trees/Planter Area, on a monthly and as-needed Specifications.	\$ 1.74 L.S.	X 12	_{\$} 20.88
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed	\$0.06 L.S.	X 52	\$3.12
3.	L.S.	abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 0.16 L.S	X52	\$ 8.32
4.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$0.06 LS.	X 52	\$ 3.12
				Subtotal BZ-101	\$ 35.44
<u>72.)</u>	BID SC	HEDULE – BZ-102			
1.	L.S.	Maintain 1,737 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 26.94 L.S.	X 12	\$ 323.28
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 0.95 L.S.	X 52	\$ 49.40
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 2.52 L.S	X52	\$ 131.04
4.	EA.	Provide and Apply Fertilizer within 1,737 S.F. of Maintenance per Specifications.	\$ 5.31 EA.	X3	\$ 15.93
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 0.95 LS.	X 52	\$ 49.40
				Subtotal BZ-102	\$ 569.05

73.) BID SCHEDULE-BZ-104:

<u> </u>	ILDULL-DZ-104.			
L.S.	Maintain 15,875 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	\$ 182.16	X 9	\$ 1,639.44
L.S.	Maintain 15,875 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	\$ 182.16	X 35	6,375.60 \$
L.S.	Provide 15,875 S.F of Over- seeding on an annual basis prior to Nov. 15 per Specifications	\$ 1,603.01	X 1	\$ 1,603.01
L.S.	Maintain 191,195 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 3854.51	X 12	\$ 46,254.12
L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 95.17	X 52	\$ 4,948.84
L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 266.49	X52	\$ 13,857.48
EA.	Provide and Apply Fertilizer within 207,070 S.F. of Maintenance area per Specifications.	\$ 527.9	X3	\$ 1,583.70
LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.		X 52 Subtotal BZ-104	\$ 4,948.84 \$ 81,211.03
	L.S. L.S. L.S. EA.	from Nov. 1 to Feb. 28 per Specifications. L.S. Maintain 15,875 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications. L.S. Provide 15,875 S.F of Over- seeding on an annual basis prior to Nov. 15 per Specifications L.S. Maintain 191,195 S.F. of Planter Area, on a monthly and as needed basis per Specifications. L.S. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. L.S Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. EA. Provide and Apply Fertilizer within 207,070 S.F. of Maintenance area per Specifications.	L.S. Maintain 15,875 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications. L.S. Maintain 15,875 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications. L.S. Provide 15,875 S.F of Overseeding on an annual basis prior to Nov. 15 per Specifications L.S. Maintain 191,195 S.F. of Planter Area, on a monthly and as needed basis per Specifications. L.S. Irrigation Maintenance, Repairs, Per Section 9 D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. L.S. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. EA. Provide and Apply Fertilizer within 207,070 S.F. of Maintenance area per Specifications, Special Provisions LS. Irrigation repairs per Specifications, Special Provisions	L.S. Maintain 15,875 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications. L.S. Maintain 15,875 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications. L.S. Provide 15,875 S.F of Overseeding on an annual basis prior to Nov. 15 per Specifications L.S. Maintain 191,195 S.F. of Planter Area, on a monthly and as needed basis per Specifications. L.S. Irrigation Maintenance, Repairs, Per Section 9 D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. L.S. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. EA. Provide and Apply Fertilizer within 207,070 S.F. of Maintenance area per Specifications. EA. Irrigation repairs per Specifications, Special Provisions Section 9-D. L.S. LS. Irrigation repairs per Specifications, Special Provisions Section 9-D. Specifications, Special Provisions Section 9-D.

74.) **BID SCHEDULE - BZ-105**

1. L.S. Maintain 24,200 S.F. of Planter
Area, on a monthly and as needed basis per Specifications.

\$\frac{\$375.3}{\$1.00}\$ \text{X 12} \frac{\$4,503.60}{\$1.00}\$

2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 13.29 L.S.	X 52	\$ 691.08
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 35.04 L.S	X52	\$ 1,822.08
4.	EA.	Provide and Apply Fertilizer within 24,200 S.F. of Maintenance per Specifications.	\$ 74.03 EA.	X 3	\$ 222.09
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	13.29 \$ LS.	X 52	\$ 691.08
				Subtotal BZ-105	\$ 7,929.93
75.) l	BID SCH	HEDULE – BZ-106			
1.	L.S.	Maintain 2,644 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	\$ 41.00 L.S.	X 12	492.00 \$
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	_{\$} 1.45	X 52	_{\$} 75.40
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 3.83 L.S	X52	\$ 199.16
4.	EA.	Provide and Apply Fertilizer within 2,527 S.F. of Maintenance per Specifications.	8.09 \$ EA.	X 3	<u></u> \$ 24.27
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.45 LS.	X 52	\$ 75.40
				Subtotal BZ-106	\$ 866.23

10.1	וטט טוט	ILDULL - DZ-101			
1.	L.S.	Maintain 53,391 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	999.28 	X 12	\$ 11,991.36
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling			
		per Specifications.	\$ 22.03 L.S.	X 52	1,145.56 _\$
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per			
		Specifications.	\$ 61.54 L.S	X52	\$ 3,200.08
4.	EA.	Provide and Apply Fertilizer within 53,391 S.F. of Maintenance per Specifications.	\$ 122.22 EA.	X 3	\$ 366.66
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 22.03 LS.	X 52	_{\$} 1,145.56
			20.	Subtotal BZ-107	17,849.22
77.)	BID SCI	HEDULE – BZ-108			
1.	L.S.	Maintain 28,647 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	\$ 536.17	X 12	\$ 6,434.04
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	e 11.82		¢ 614.64
		per Specifications.	L.S.	X 52	\$ 014.04
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 33.02 L.S	X52	\$ 1,717.04
			L.S		

4.	EA.	Provide and Apply Fertilizer within 28,647 S.F. of Maintenance per Specifications.	\$ 65.58 EA.	X 3	\$ 196.74
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 11.82 LS.	X 52	\$ 614.64
				Subtotal BZ-108	\$ 9,577.10
78.)	BID SCI	HEDULE - BZ-109			
1.	L.S.	Maintain 3,465 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 53.74 L.S.	X 12	\$ 644.88
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	1.00		• 98.80
		per Specifications.	L.S.	X 52	\$ 30.00
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	5.02 \$ L.S	X52	_{\$} 261.04
4.	EA.	Provide and Apply Fertilizer within 3,465 S.F. of Maintenance per Specifications.	\$ 10.60 EA.	X 3	31.80 <u>\$</u>
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.90 LS.	X 52	\$ 98.80
				Subtotal BZ-109	\$ 1,135.32
79.) I	BID SCI	HEDULE - BZ-113			
1.	L.S.	Maintain 20,719 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 387.78 L.S.	X 12	\$ 4,653.36
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work	\$ 8.55	X 52	

		Performance Reporting/Scheduling per Specifications.	L.S.		\$ 444.60
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 23.88 L.S	X52	\$ 1,241.76
4.	EA.	Provide and Apply Fertilizer within 20,719 S.F. of Maintenance per Specifications.	47.43 \$ EA.	X 3	\$ 142.29
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 8.55 LS.	X 52	\$ 444.60
				Subtotal BZ-113	\$ 6,926.61
80.)	BID SC	HEDULE – GFBZ-114			
1.	L.S.	Maintain 3,940 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	\$ 79.43 L.S.	X 12	<u>\$</u> 953.16
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	_ _{\$} 1.81	X 52	\$ 94.12
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 5.07 L.S	X52	\$ 263.64
4.	EA.	Provide and Apply Fertilizer within 2,500 S.F. of Maintenance per Specifications.	\$ 10.04 EA.	X 3	\$ 30.12
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.81 LS.	X 52	\$ 94.12
			_5.	Subtotal BZ-114	\$ 1,435.16
81.)	BID SC	HEDULE – BZ-115			
1.	L.S.	Maintain 4,630 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 93.34	X 12	\$ 1,120.08

2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	L.S.		
		per Specifications.	\$ 2.13 L.S.	X 52	\$ 110.76
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 5.96 L.S	X52	\$ 309.92
4.	EA.	Provide and Apply Fertilizer within 4,630 S.F. of Maintenance per Specifications.	\$ 11.80 EA.	X 3	_{\$} 35.40
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.13 LS.	X 52	\$ 110.76
				Subtotal BZ-115	\$ 1,686.92
<u>82.)</u>	BID SC	HEDULE – BZ-116			
1.	L.S.	Maintain 3,717 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 69.57 L.S.	X 12	_\$834.84
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 1.53 L.S.	X 52	_{\$} 79.56
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 4.28	X52	\$ 222.56
4.	EA.	Provide and Apply Fertilizer within 3,717 S.F. of Maintenance per Specifications.	\$ 8.51 EA.	X 3	\$ 25.53
5.	LS.	Irrigation repairs per			

				Subtotal BZ-116	\$ 1,242.05
83.)	BID SCI	HEDULE – BZ-118			
1.	L.S.	Maintain 746 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$_11.57 L.S.	X 12	_{\$} 138.84
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 0.41 L.S.	X 52	_{\$} 21.32
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$1.08	X52	\$ 56.16
4.	EA.	Provide and Apply Fertilizer within 746 S.F. of Maintenance per Specifications.	\$ 2.28 EA.	X 3	\$ 6.84
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 0.41 LS.	X 52	\$ 21.32
			LO.	Subtotal BZ-118	\$ 244.48
84.)	BID SCI	HEDULE – BZ-120			
1.	L.S.	Maintain 3,610 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 67.57 L.S.	X 12	<u>\$</u> 810.84
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	1.49 \$ L.S.	X 52	\$ 77.48
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	4.16 L.S	X52	\$ 216.32

4.	EA.	Provide and Apply Fertilizer within 3,610 S.F. of Maintenance per Specifications.	\$ 8.26 EA.	X 3	\$ 24.78
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.49 LS.	X 52	\$ 77.48
				Subtotal BZ-120	\$ 1,206.90
<u>85.)</u>	BID SCI	HEDULE – BZ-121			
1.	L.S.	Maintain 19,197 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 359.3 L.S.	X 12	\$ 4,311.60
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	_{\$} 7.92		¢ 411.84
		per Specifications.	L.S.	X 52	\$ 411.04
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 22.13 L.S	X52	\$ 1,150.76
4.	EA.	Provide and Apply Fertilizer within 19,197 S.F. of Maintenance per Specifications.	\$ 43.94 EA.	X 3	\$ 131.82
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 7.92 LS.	X 52	\$ 411.84
				Subtotal BZ-121	\$ 6,417.86
86.)	BID SCI	<u> 1EDULE – BZ-122</u>			
1.	L.S.	Maintain 17,436 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$_326.34_ L.S.	X 12	\$ 3,916.08
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work	\$ 7.20	X 52	

		Performance Reporting/Scheduling per Specifications.			\$ 374.40
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	20.10 \$	X52	\$ 1,045.20
4.	EA.	Provide and Apply Fertilizer within 17,436 S.F. of Maintenance per Specifications.	\$ 39.91 EA.	X3	_{\$} 119.73
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 7.20 LS.	X 52	\$ 374.40
				Subtotal BZ-122	\$ 5,829.81
<u>87.)</u>	BID SCI	HEDULE – BZ-123			
1.	L.S.	Maintain 1,843 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 34.49 L.S.	X 12	\$ 413.88
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 0.76	X 52	_{\$} 39.52
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	2.12 \$ L.S	X52	110.24 \$
4.	EA.	Provide and Apply Fertilizer within 1,843 S.F. of Maintenance per Specifications.	\$ 4.22 EA.	X3	12.66
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 0.76 LS.	X 52	\$ 39.52
				Subtotal BZ-123	_{\$} 615.82
88.)	BID SCI	HEDULE – BZ-124			
1.	L.S.	Maintain 2,861 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 44.37	X 12	\$ 532.44

2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	L.S. \$1.57 L.S.	X 52	<u>\$ 81.64</u>
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 4.14 L.S	X52	\$ 215.28
4.	EA.	Provide and Apply Fertilizer within 2,861 S.F. of Maintenance per Specifications.	8.75 EA.	X3	\$ 26.25
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.57 LS.	X 52	\$ 81.64
				Subtotal BZ-124	\$ 937.25
89.)	BID SC	HEDIHE D7 425			
<u> </u>	<u> </u>	<u> HEDULE – BZ-125</u>			
1.	L.S.	Maintain 20,229 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 378.61 L.S.	X 12	\$ 4,543.32
		Maintain 20,229 S.F. of Planter Area, on a monthly and as needed	\$ 378.61 L.S. \$ 8.35	X 12	\$ 4,543.32 \$ 434.20
1.	L.S.	Maintain 20,229 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling			_\$

5.	EA.	Provide and Apply Fertilizer within 20,229 S.F. of Maintenance per Specifications.	\$ 46.31 EA.	X 3	\$ 138.93
6.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 8.35 LS.	X 52	\$ 434.20
				Subtotal BZ-125	\$ 6,948.93
90.)	BID SCI	HEDULE - BZ-126			
1.	L.S.	Maintain 15,645 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 292.82 L.S.	X 12	\$ 3,513.84
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 6.46 L.S.	X 52	\$ 335.92
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 18.03 L.S	X52	\$ 937.56
4.	EA.	Provide and Apply Fertilizer within 15,645 S.F. of Maintenance per Specifications.	\$ 35.81 EA.	X 3	\$ 107.43
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 6.46 LS.	X 52	\$ 335.92
			20.	Subtotal BZ-126	\$ 5,230.67
91.)	BID SCI	HEDULE – BZ-127			
1.	L.S.	Maintain 289,984 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$_4,497.16 	X 12	\$ 53,965.92
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting,	\$ 159.30	X 52	

2		Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed	L.S.		\$ 8,283.60
3.	L.S.	abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 419.94 L.S	X52	\$ 21,836.88
4.	L.S.	Weed abatement of walking trail 87,798 S.F.	\$ 127.14 L.S.	X52	\$ 6,611.28
5.	EA.	Provide and Apply Fertilizer within 289,984 S.F. of Maintenance per Specifications.	\$ 887.13 EA.	X 3	\$ 2,661.39
6.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 159.3 LS.	X 52	\$ 8,283.60
				Subtotal BZ-127	\$ 101,642.67
92.)	BID SC	HEDULE – BZ-129			
1.	L.S.	Maintain 10,814 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	\$ 124.09 L.S.	X 9	\$ 1,116.81
2.	L.S.	Maintain 10,814 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	\$ 124.09 L.S.	X 35	\$ 4,343.15
3.	L.S.	Provide 10,814 S.F of Over- seeding on an annual basis prior to Nov. 15 per Specifications	\$ 1,091.97 L.S.	X1	\$ 1,091.97
4.	L.S.	Maintain 5,406S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 108.99 L.S.	X 12	\$ 1,307.88
5.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 7.46	X 52	\$ 387.92
6.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub,	L.S.		

		planter areas, etc. per Specifications.	\$ 20.87 L.S.		\$ 1,085.24
7.	EA.	Provide and Apply Fertilizer within 16,220 S.F. of Maintenance area per Specifications.	\$ 41.35 EA	X3	\$ 124.05
8.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	7.46 \$	X 52	\$ 387.92 \$ 9,844.94
				Subtotal BZ-129	\$ 3,044.34
<u>93.)</u>	BID SC	HEDULE – BZ-130			
1.	L.S.	Maintain 42,202 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	789.87 L.S.	X 12	\$ 9,478.44
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work	2.0.		
		Performance Reporting/Scheduling per Specifications.	\$ 17.42	X 52	905.84
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per	L.S. \$ 48.64		. 0.500.00
		Specifications.	\$ 40.04 L.S	X52	\$ 2,529.28
4.	EA.	Provide and Apply Fertilizer within 42,202 S.F. of Maintenance per Specifications.	\$ 96.61 EA.	X3	\$ 289.83
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 17.42 LS.	X 52	\$ 905.84
				Subtotal BZ-130	\$ 14,109.23
94.)	BID SC	HEDULE – BZ-131			
1.	L.S.	Maintain 15,862 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 296.88 L.S.	X 12	\$ 3,562.56
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring,	\$ 6.55	X 52	

		Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	L.S.		340.60 _\$
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 18.28 L.S	X52	\$ 950.56
4.	EA.	Provide and Apply Fertilizer within 15,862 S.F. of Maintenance per Specifications.	\$ 36.31 EA.	X3	_ _{\$} 108.93
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 6.55 LS.	X 52	\$ 340.60
				Subtotal BZ-131	\$ 5,303.25
95.)	BID SCI	HEDULE – BZ-132			
1.	L.S.	Maintain 2,574 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 39.92 L.S.	X 12	\$ 479.04
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	_e 1.41	X 52	_{\$} 73.32
		per Specifications. Pick up trash and debris and weed	L.S.	X 3Z	<u>\$</u>
3.	L.S.	abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 3.73 L.S	X52	\$ 193.96
4.	EA.	Provide and Apply Fertilizer within 2,574 S.F. of Maintenance per Specifications.	7.87 \$ EA.	X3	\$ 23.61
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.41 LS.	X 52	\$ 73.32
			LO.	Subtotal BZ-132	\$ 843.25

1.	L.S.	Maintain 20,578 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 385.14 L.S.	X 12	_{\$} 4,621.68
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 8.49 L.S.	X 52	\$ 441.48
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	23.72 \$ L.S	X52	1,233.44
4.	EA.	Provide and Apply Fertilizer within 20,578 S.F. of Maintenance per Specifications.	\$ 47.11 EA.	X 3	\$ 141.33
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 8.49 LS.	X 52	_{\$} 441.48
				Subtotal BZ-134	\$ 6,879.41
<u>97.)</u>	BID SCI	<u> HEDULE – BZ-135</u>		Subtotal BZ-134	\$ 6,879.41
97.) 1.	BID SCI L.S.	HEDULE – BZ-135 Maintain 8,789 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	164.5	Subtotal BZ-134 X 12	\$ 6,879.41 \$ 1,974.00
		Maintain 8,789 S.F. of Planter Area, on a monthly and as needed	L.S. 3.63		Ψ
1.	L.S.	Maintain 8,789 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	L.S.	X 12	\$ 1,974.00

5.	LS.	Irrigation repairs per			
		Specifications, Special Provisions Section 9-D.	\$ 3.63 LS.	X 52	\$ 188.76
			LO.	Subtotal BZ-135	\$ 2,938.64
98.)	BID SC	HEDULE – BZ-136			
1.	L.S.	Maintain 5,351 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 82.98 L.S.	X 12	\$ 995.76
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$2.94	X 52	_ _{\$} 152.88
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	1.S. \$ 7.75 L.S	X52	\$ 403.00
4.	EA.	Provide and Apply Fertilizer within 5,351 S.F. of Maintenance per Specifications.	\$ 16.37 EA.	X3	\$ 49.11
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.94	X 52	\$ 152.88
			20.	Subtotal BZ-136	\$ 1,753.63
99.)	BID SC	HEDULE – BZ-137			
1.	L.S.	Maintain 15,158 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.		X 12	_\$ 3,404.40
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 6.26 L.S.	X 52	\$ 325.52

3.4.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within	\$ 17.47 L.S	X52	908.44
		15,158 S.F. of Maintenance per Specifications.	\$ 34.70 EA.	X 3	\$ 104.10
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 6.26 LS.	X 52	\$ 325.52
				Subtotal BZ-137	\$ 5,067.98
<u>100.)</u>	BID S	CHEDULE - BZ-138			
1.	L.S.	Maintain 11,190 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	\$ 225.59 L.S.	X 12	\$ 2,707.08
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 5.14	X 52	\$ 267.28
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 14.4	X52	_{\$} 748.80
4.	EA.	Provide and Apply Fertilizer within 11,190 S.F. of Maintenance per Specifications.	\$ 28.53	X 3	\$ 85.59
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 5.14 LS.	X 52	\$ 267.28
				Subtotal BZ-138	\$ 4,076.03
<u>101.)</u>	BID SC	CHEDULE - BZ-139			
1.	L.S.	Maintain 7,490 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 116.16 L.S.	X 12	_ _{\$} 1,393.92

2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 4.11 S	X 52	\$ 213.72
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	10.85	X52	\$ 564.20
4.5.	EA.	Provide and Apply Fertilizer within 7,490 S.F. of Maintenance per Specifications. Irrigation repairs per	\$ 22.91	X 3	\$ 68.73
		Specifications, Special Provisions Section 9-D.	\$ 4.11 LS.	X 52	\$ 213.72
				Subtotal BZ-139	\$ 2,454.29
<u>102.)</u>	BID SC	HEDULE – BZ-141			
1.	L.S.	Maintain 4,446 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	83.21 	X 12	\$ 998.52
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 1.83 L.S.	X 52	\$ 95.16
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 5.12 L.S	X52	\$ 30.54
4.	EA.	Provide and Apply Fertilizer within 4,446 S.F. of Maintenance per Specifications.	\$ 10.18 EA.	X 3	\$ 30.54
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.83 LS.	X 52	\$ 95.16
				Subtotal BZ-141	\$ 1,485.62

1.	L.S.	Maintain 4,971 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 93.04 L.S.	X 12	_{\$} 1,116.48
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	2.05 \$ L.S.	X 52	_{\$} 106.60
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 5.73 L.S	X52	297.96
4.	EA.	Provide and Apply Fertilizer within 4,971 S.F. of Maintenance per Specifications.	\$ 11.38 EA.	X 3	_{\$} 34.14
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.05 LS.	X 52	\$ 106.60
				Subtotal BZ-142	\$ 1,661.78
<u>104.)</u>	BID SC	CHEDULE – BZ-143		Subtotal BZ-142	\$ 1,661.78
104.) 1.	BID SO	CHEDULE – BZ-143 Weed abate and pick up trash in 6,300 S.F. of hardscaped area, on weekly basis, per Specifications.	\$ 14.52 L.S.	Subtotal BZ-142 X 26	\$ 1,661.78 \$ 377.52
		Weed abate and pick up trash in 6,300 S.F. of hardscaped area, on	\$ 14.52 L.S.		Ψ .
1.	L.S.	Weed abate and pick up trash in 6,300 S.F. of hardscaped area, on	\$ 14.52 L.S.	X 26	\$ 377.52
1.	L.S.	Weed abate and pick up trash in 6,300 S.F. of hardscaped area, on weekly basis, per Specifications.	\$ 14.52 L.S. 16.04 L.S.	X 26	\$ 377.52

		Performance Reporting/Scheduling per Specifications.	L.S.		\$ 18.20
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 0.99 L.S	X52	_{\$} 51.48
4.	EA.	Provide and Apply Fertilizer within 857 S.F. of Maintenance per Specifications.	1.96 \$ EA.	X3	\$ 5.88
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 0.35 LS.	X 52	\$ 18.20
			LS.	Subtotal BZ-144	\$ 286.24
<u>106.)</u>	BID S	CHEDULE – BZ-145			
1.	L.S.	Maintain 19,442 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 363.88 L.S.	X 12	\$ 4,366.56
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	8.02	X 52	417.04 \$
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 22.41	X52	_{\$} 1,165.32
4.	EA.	Provide and Apply Fertilizer within 19,442 S.F. of Maintenance per Specifications.	s 44.51 EA.	X3	_{\$} 133.53
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$8.02	X 52	\$ 417.04
			LS.	Subtotal BZ-145	6,499.49 _\$
107.)	BID S	CHEDULE – BZ-146			
1.	L.S.	Maintain 15,158 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 283.70	X 12	\$ 3,404.40

2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting,	L.S.		
		Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 6.26 L.S.	X 52	\$ 325.52
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 17.47	X52	908.44
4.	EA.	Provide and Apply Fertilizer within 15,158 S.F. of Maintenance per Specifications.	\$ 34.7 EA.	X3	\$ 104.10
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 6.26 LS.	X 52	\$ 325.52
				Subtotal BZ-146	\$ 5,067.98
<u>108.)</u>	BID S	CHEDULE – BZ-148		Subtotal BZ-146	\$ 5,067.98
108.]	BID S L.S.	CHEDULE – BZ-148 Maintain 8,423 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 84.90 L.S.	Subtotal BZ-146 X 12	\$ 5,067.98 \$ 1,018.80
		Maintain 8,423 S.F. of Planter Area, on a monthly and as needed			4 040 00
1.	L.S.	Maintain 8,423 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting,			4 040 00

4.	L.S.	Maintain 4,000 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications	\$ 84.90	X12	\$ 1,018.80
5.	EA.	Provide and Apply Fertilizer within 8,423 S.F. of Maintenance per Specifications.	L.S. \$ 21.47 EA.	X 3	\$ 64.41
6.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	3.87 \$ LS.	X 52	\$ 201.24
				Subtotal BZ-148	3,068.17
<u>109.)</u>	BID SC	CHEDULE - BZ-149			
1.	L.S.	Maintain 14,186 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	\$ 265.51 L.S.	X 12	\$ 3,186.12
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	5.85 L.S.	X 52	\$ 304.20
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	16.35 \$ L.S	X52	\$ 850.20
4.	EA.	Provide and Apply Fertilizer within 14,186 S.F. of Maintenance per Specifications.	\$ 32.47 EA.	X 3	\$ 97.41
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 5.85 LS.	X 52	\$ 304.20
				Subtotal BZ-149	\$ 4,742.13

1.	L.S.	Maintain 6,924 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 129.59 L.S.	X 12	\$ 1,555.08
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	2.86 \$ L.S.	X 52	\$ 148.72
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 7.98 L.S	X52	414.96 _\$
4.	EA.	Provide and Apply Fertilizer within 6,924 S.F. of Maintenance per Specifications.	\$ 15.85 EA.	X 3	\$ 47.55
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.86 LS.	X 52	148.72
				Subtotal BZ-150	\$ 2,315.03
<u>111.)</u>	BID SC	CHEDULE – BZ-151		Subtotal BZ-150	\$ 2,315.03
111.) 1.	BID SC	CHEDULE – BZ-151 Maintain 15,221 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	284.88 	Subtotal BZ-150 X 12	\$ 2,315.03 \$ 3,418.56
		Maintain 15,221 S.F. of Planter Area, on a monthly and as needed			2.440.50
1.	L.S.	Maintain 15,221 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	\$ L.S.	X 12	\$ 3,418.56 326.56

5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 6.28 LS.	X 52	\$ 326.56
				Subtotal BZ-151	\$ 5,088.28
<u>112.)</u>	BID SC	CHEDULE - BZ-152			
1.	L.S.	Maintain 4,575 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 85.63 L.S.	X 12	\$ 1,027.56
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	1.89 \$ L.S.	X 52	\$ 98.28
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 5.27 L.S	X52	\$ 274.04
4.	EA.	Provide and Apply Fertilizer within 4,575 S.F. of Maintenance per Specifications.	\$ 10.47 EA.	X 3	\$ 31.41
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$1.89 LS.	X 52	_{\$} 98.28
				Subtotal BZ-152	\$ 1,529.57
<u>113.)</u>	BID SC	CHEDULE - BZ-153			
1.	L.S.	Maintain 22,138 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 414.34 L.S.	X 12	\$ 4,972.08
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 9.14 L.S.	X 52	\$ 475.28

3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	25.52 \$ L.S	X52	\$ 1,327.04
4.	EA.	Provide and Apply Fertilizer within 22,138 S.F. of Maintenance per Specifications.	50.68 \$ EA.	X 3	_{\$} 152.04
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	9.14 \$ LS.	X 52	\$ 475.28
				Subtotal BZ-153	7,401.72 _\$
<u>114.)</u>	BID SO	CHEDULE - BZ-156			
1.	L.S.	Maintain 5,607 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	113.04 L.S.	X 12	_ _{\$} 1,356.48
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 2.58 L.S.	X 52	<u>\$ 134.16</u>
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 7.22	X52	\$ 375.44
4.	EA.	Provide and Apply Fertilizer within 5,607 S.F. of Maintenance per Specifications.	\$ 14.29 EA.	X 3	\$ 42.87
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.58 LS.	X 52	\$ 134.16
				Subtotal BZ-156	2,043.11 _\$
115.)	BID S	CHEDULE – BZ-157			
1.	L.S.	Maintain 6,505 S.F. of Planter			
		Area, on a monthly and as needed basis per Specifications.	\$ 131.14 L.S.	X 12	\$ 1,573.68
2.	L.S.	Irrigation Maintenance,	\$ 2.99	X 52	

		Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.			_{\$} 155.48
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 8.37 L.S	X52	\$ 435.24
4.	EA.	Provide and Apply Fertilizer within 6,505 S.F. of Maintenance per Specifications.	\$ 16.58 EA.	X 3	\$ 49.74
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.99 LS.	X 52	\$ 155.48
				Subtotal BZ-157	\$ 2,369.62
<u>116.)</u>	BID SC	CHEDULE – BZ-160			
1.	L.S.	Maintain 28,148 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	526.83 	X 12	\$ 6,321.96
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 11.62 L.S.	X 52	\$ 604.24
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 32.45 L.S	X52	\$ 1,687.40
4.	EA.	Provide and Apply Fertilizer within 20,436 S.F. of Maintenance per Specifications.	\$ 64.43 EA.	X 3	\$ 193.29
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 11.62	X 52	\$ 604.24
			LS.	Subtotal BZ-160	9,411.13

117.) BID SCHEDULE - BZ-161

117.7	DID GC	DILDULL - DE-101			
1.	L.S.	Maintain 4,098 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	\$ 76.7 L.S.	X 12	\$ 920.40
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	1.69 \$ L.S.	X 52	\$87.88 _\$
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 4.72 L.S	X52	\$ 245.44
4.	EA.	Provide and Apply Fertilizer within 4,098 S.F. of Maintenance per Specifications.	\$ 9.38 EA.	X 3	\$ 28.14
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.69 LS.	X 52	\$ 87.88
				Subtotal BZ-161	\$ 1,369.74
<u>118.)</u>	BID SC	CHEDULE - BZ-164			
1.	L.S.	Maintain 8,535 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	\$ 159.74 L.S.	X 12	\$ 1,916.88
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 3.52 L.S.	X 52	183.04 _\$
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 9.84 L.S	X52	\$ 511.68

4.	EA.	Provide and Apply Fertilizer within 8,535 S.F. of Maintenance per Specifications.	\$ 19.54 EA.	X 3	58.62 _\$
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 3.52 LS.	X 52	\$ 183.04
				Subtotal BZ-164	\$ 2,853.26
<u>119.)</u>	BID SC	CHEDULE – BZ-165			
1.	L.S.	Maintain 2,545 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	\$51.31 L.S.	X 12	\$ 615.72
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 1.17 LS	X 52	\$ 60.84
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 3.28 L.S	X52	\$ 170.56
4.	EA.	Provide and Apply Fertilizer within 2,545 S.F. of Maintenance per Specifications.	\$ 6.49 EA.	X 3	\$ 19.47
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.17 LS.	X 52	\$ 60.84
			20.	Subtotal BZ-165	\$ 927.43
120.) Meter	BID SC with B	CHEDULE – GF-01 (Aurora Dr Z-40 Maintain 4,280 S.F. of Planter Area, on a monthly and as needed		s): Shares Water	
2.	L.S.	basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D,	\$ 86.29 L.S.	X 12	\$ 1,035.48
		Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting,	\$ 1.97	X 52	

		Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	L.S.		\$ 102.44
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 5.51 L.S	X52	\$ 286.52
4.	EA.	Provide and Apply Fertilizer within 4,280 S.F. of Maintenance per Specifications.	\$10.91 EA.	X3	_{\$} 32.73
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.97 LS.	X 52	_{\$} 102.44
				Subtotal GF-01	\$ 1,559.61
<u>121.)</u>	BID SC	CHEDULE – GF-02 (North Side	Nuevo, Wes	t of Wilson)	
1.	L.S.	Maintain 2,800 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 56.45 L.S.	X 12	\$ 677.40
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 1.29 L.S.	X 52	\$ 67.08
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	3.60 L.S	X52	\$ 187.20
4.	EA.	Provide and Apply Fertilizer within 2,800 S.F. of Maintenance per Specifications.	\$ 7.14 EA.	X3	\$ 21.42
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	1.29 \$	X 52	\$ 67.08
				Subtotal GF-02	\$ 1,020.18

122.) BID SCHEDULE - GF-03 (Perris High School Landscape Area)

1.	L.S.	Maintain 2,103 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	<u>\$ 32.61</u>	X 12	_{\$} 391.32
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	1.16 \$ L.S.	X 52	\$ 60.32
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 3.05 L.S	X52	158.60
4.	EA.	Provide and Apply Fertilizer within 248 S.F. of Maintenance per Specifications.	\$ 6.43 EA.	X3	\$ 19.29
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.16 LS.	X 52	\$ 60.32
				Subtotal GF-03	\$ 689.85
		CHEDULE – GF-08 (East Side o	f Redlands Btw	<u> </u>	\$ 689.85
North	າ of Jarv	<u>is)</u>	f Redlands Btw	<u> </u>	\$ 689.85
			f Redlands Btw \$ 107.01 L.S.	<u> </u>	\$ 689.85 \$ 1,284.12
North	າ of Jarv	is) Maintain 6,900 S.F. of Planter Area, on a monthly and as needed	\$ 107.01	vn Dale & Channel,	
North 1.	n of Jarv L.S.	Maintain 6,900 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	\$ 107.01 L.S.	xn Dale & Channel,	\$ 1,284.12

5.	LS.	Irrigation repairs per Specifications, Special Provisions	\$ 3.79		e 197.08
		Section 9-D.	\$ 0.75 LS.	X 52	\$ 197.00
				Subtotal GF-08	\$ 2,261.09
124.)	BID SO	CHEDULE – GF-11 (W. San Ja	cinto Ave. & D	Diana St.)	
1.	L.S.	Maintain 7,000 S.F. of	<u> </u>	<u> </u>	
		Rock/Cobble Planter Area, on weekly and bi-weekly basis, paid bi-weekly per Specifications.	25.05 \$ L.S.	X 52	\$ 1,302.60
				Subtotal GF-11	\$ 1,302.60
<u>125.)</u>	BID SC	CHEDULE – D Street Medians	and Planters		
1.	L.S.	Maintain 17,488 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 271.21 L.S.	X 12	\$ 3,254.52
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 9.61 L.S.	X 52	\$ 499.72
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	25.33 L.S	X52	\$ 1,317.16
4.	EA.	Provide and Apply Fertilizer within 16,012 S.F. of Maintenance per Specifications.	\$ 53.5 EA.	X 3	\$ 160.50
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 9.61 LS.	X 52	\$ 499.72
				Subtotal D St.	\$ 5,731.62

126.) BID SCHEDULE - GF-15 (Public Works Yard)

1.	L.S.	Maintain 1,800 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 27.91 L.S.	X 12	<u>\$ 334.92</u>
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 0.99 L.S.	X 52	_{\$} 51.48
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 2.61 L.S	X52	_{\$} 135.72
4.	EA.	Provide and Apply Fertilizer within 1,800 S.F. of Maintenance per Specifications.	\$ 5.51 EA.	X 3	\$ 16.53
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 0.99 LS.	X 52	\$ 51.48 \$
				Subtotal GF-15	\$ 590.13
					\$ 590.13
<u>127.</u>)		CHEDULE – GF-36 (Ramona E	xpressway St.		\$ 590.13
127.]	BID SO	CHEDULE – GF-36 (Ramona E Maintain 68,504 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	\$ 1,282.14		\$ 590.13 \$ 15,385.68
		Maintain 68,504 S.F. of Median Planter Area, on a monthly and as	\$ 1,282.14 L.S.	Medians)	4E 20E 60
1.	L.S.	Maintain 68,504 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	\$1,282.14 	Medians) X 12	\$ 15,385.68

5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 28.27 LS.	X 52	\$ 1,470.04 \$ 22,902.11
				Subtotal GF-36	\$ -2,002
		CHEDULE - GF-42 (E side of F	Redlands fron	n Sunset	
<u>Cnan</u> 1.	L.S.	Citrus Ave.) Maintain 4,180 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	\$ 47.96 L.S.	X 9	\$ 431.64
2.	L.S.	Maintain 4,180 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	_{\$} 47.96	X 35	\$ 1,678.60
3.	L.S.	Provide 4,180 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	L.S. \$ 422.08	X 1	\$ 422.08
4.	L.S.	Maintain 13,200 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	L.S. \$ 266.11 L.S.	X 12	\$ 3,193.32
5.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 7.99	X 52	_{\$} 415.48
6.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 22.37 L.S.	X52	1,163.24 \$
7.	EA.	Provide and Apply Fertilizer within 17,380 S.F. of Maintenance area per Specifications.	\$ 44.31 EA	X3	\$ 132.93
8.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	7.99 \$ LS.	X 52	\$415.48
			LO.	Subtotal GF-42	\$ 7,852.77

129.) BID SCHEDULE - GF-44 (A St. & Ellis Ave.)

1.	L.S.	Maintain 14,542 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	7.94 \$ L.S.	X 12	\$ 412.88
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	225.52 \$ L.S.	X 52	\$ 2,706.24
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 20.93 L.S	X52	\$ 1,088.36
4.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 7.94 LS.	X 52	\$ 412.88
				Subtotal GF-44	4,620.36
130.		CHEDULE – GF-49 (Area Btwn	BZ-71 and B	<u>3Z-72):</u> Shares	
		r From BZ-72			
1.	L.S.	Maintain 6,500 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$131.04 L.S.	X 12	\$ 1,572.48
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 2.99 L.S.	X 52	\$ 155.48
_		Dick up track and dahric and wood			
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 8.37	X52	\$435.24
 4. 	EA.	abate hardscape, turf, shrub, planter areas, etc. per	\$ 8.37 L.S \$ 16.57 EA.	X52 X3	\$ 435.24 \$ 49.71

131.) BID SCHEDULE - GF-50 (Perris and Citrus Landscape)

1.	L.S.	Maintain 9,448 S.F. of Syni Turf
		and Planter Area, on a monthly
		and as needed basis per
		Specifications.

Subtotal GF-50 \$ 3,441.59

132.) BID SCHEDULE - GF-54 (Southside Rider Btwn Old Evans &EI

Nido): Shares Water Meter From BZ-60

	100/1	<u> </u>	, iiuto.		•
1.	. 1	S.	Maintain	5,455 S.F. of Plante	er
			Area, on	a monthly and as no	eeded
			basis per	r Specifications.	

4.	EA.	Provide and Apply Fertilizer within 5,455 S.F. of Maintenance per Specifications.	13.91 \$ EA.	X3	\$ 41.73
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	2.51 \$ LS.	X 52	\$ 130.52
				Subtotal GF-54	\$ 1,987.45
<u>133.)</u>	BID SC	CHEDULE – GF-58 (Perris and	Ensenada La	andscape)	
1.	L.S.	Maintain 8,880 S.F. of Planter Area, on a monthly and as needed basis per Specifications.		X 12	\$ 2,128.92
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work	L.G.		
		Performance Reporting/Scheduling per Specifications.	\$ 4.04 L.S.	X 52	\$ 210.08
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	11.33 \$ L.S	X52	\$ 589.16
4.	EA.	Provide and Apply Fertilizer within 5,455 S.F. of Maintenance per Specifications.	\$ 22.43 EA.	X 3	\$ 67.29
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 4.04 LS.	X 52	\$ 210.08
				Subtotal GF-58	\$ 3,205.53
134.)	BID SC	CHEDULE – GF-59 (Redlands :	and Rider)		
1.	L.S.	Maintain 11,866 S.F. of Planter Area, on a monthly and as needed	222.00		2 665 08
2.	L.S.	basis per Specifications. Irrigation Maintenance of 11,866 S.F Repairs, Per Section 9-D, Inspection, Testing, Monitoring,	\$ 222.09 L.S.	X 12	\$ 2,665.08
		Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work	\$ 4.90	X 52	

		Performance Reporting/Scheduling per Specifications.	L.S.		\$ 254.80
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. of 198,317 S.F per Specifications.	13.68 L.S	X52	\$ 711.36
4.	EA.	Provide and Apply Fertilizer within 11,866 S.F. of Maintenance per Specifications.	\$27.16 EA.	X3	_{\$} 81.48
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 4.9 LS.	X 52	\$ 254.80
				Subtotal GF-59	3,967.52
<u>135.)</u>	BID SC	CHEDULE – GF-61 (Indian Ave	Medians)		
1.	L.S.	Maintain 42,104 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	\$ 788.03	X 12	9,456.36
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 17.38	X 52	\$ 903.76
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	L.S. 48.53 \$ L.S	X52	\$ 2,523.56
4.	EA.	Provide and Apply Fertilizer within 30,126 S.F. of Maintenance per Specifications.	96.38 \$	X 3	_\$ 289.14
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 17.38 LS.	X 52	\$ 903.76
				Subtotal GF-61	\$ 14,076.58

136.) BID SCHEDULE - GF-62 Perris Median (N of San Jacinto Ave.)

1.	L.S.	Maintain 3,850 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	\$ 59.71 L.S.	X 12	716.52
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 2.11 L.S.	X 52	_{\$} 109.72
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 5.58 L.S	X52	\$ 290.16
4.	EA.	Provide and Apply Fertilizer within 2,700 S.F. of Maintenance per Specifications.	11.78 \$ EA.	X 3	\$ 35.34
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.11 LS.	X 52	\$ 109.72
				Subtotal GF-62	\$ 1,261.46
42 7 \	DID 60	CHEDINE GE Harlay Knov N	ladian	Subtotal GF-62	\$ 1,261.46
137.) 1.	BID SO	CHEDULE – GF-Harley Knox Notes of Median Planter Area, on a monthly and as needed basis per Specifications.	_{\$} 746.20	Subtotal GF-62 X 12	\$ 1,261.46 \$ 8,954.40
		Maintain 39,869 S.F. of Median Planter Area, on a monthly and as			
1.	L.S.	Maintain 39,869 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	\$ 746.20 L.S.	X 12	\$ 8,954.40

5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 16.45 LS.	X 52	\$ 855.40
				<u>Subtotal</u>	\$ 13,328.90
138.)	RID S	CHEDULE – GF-Ethanac Park	way & Madiar	3 (E of Murriota Avo)	
130.)			way & Mediai	T (L OI WIGHTER AVE)	
1.	L.S.	Maintain 20,499 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	\$ 317.9 L.S.	X 12	\$ 3,814.80
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 11.26 \$ L.S.	X 52	\$ 585.52
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. 51,499 S.F. per Specifications.	\$ 29.69 L.S	X52	\$ 1,543.88
4.	EA.	Provide and Apply Fertilizer within 20,499 S.F. of Maintenance per Specifications.	\$ 62.71 EA.	X3	\$ 188.13
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 11.26	X 52	\$ 585.52
			LO.	<u>Subtotal</u>	6,717.85
<u>139.)</u>	BID S	CHEDULE – GF-Placentia Off I	Ramp		
1.	L.S.	Maintain 56,167 S.F. of Planter, on a monthly and as needed basis per Specifications.	\$ 1,132.33 L.S.	X 12	\$ 13,587.96
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 25.82 L.S.	X 52	\$ 1,342.64

3.	L.S.	Caltrans encroachment permit to be secured by contractor annually.	L.S.	X1	
4.	L.S.	Required traffic control per specification.	0 L.S	X1	\$ 0
5.	L.S.	Pick up trash and debris and weed abate DG trails, hardscape, turf, shrub, planter areas, per Specifications.	\$ 72.28 L.S	X52	\$ 3,758.56
6.	EA.	Provide and Apply Fertilizer within 6,830 S.F. of Maintenance per Specifications.	\$ 143.19 EA.	X3	\$ 429.57
7.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 25.82 LS.	X 52	\$ 1,342.64
				<u>Subtotal</u>	\$ 20,461.37
<u>140.)</u>	BID SC	CHEDULE – GF-Rediands Med	lians (Morgar	n to Sinclair)	
1.	L.S.	Maintain 8,363 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	\$ 156.52	X 12	\$ 1,878.24
 2. 	L.S.	Planter Area, on a monthly and as	\$ 156.52 L.S. \$ 3.45 L.S.	X 12	\$ 1,878.24 \$ 179.40
		Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	\$ 3.45 L.S.		
2.	L.S.	Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per	\$ 3.45 L.S.	X 52	\$ 179.40

				<u>Subtotal</u>	\$ 2,795.74			
141.) BID SCHEDULE – GF-Redlands Medians (Morgan to Ramona								
Expr	essway							
1.	L.S.	Maintain 11,686 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	\$ 218.72 L.S.	X 12	\$ 2,624.64			
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 4.82 L.S.	X 52	\$ 250.64			
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 13.47 L.S	X52	\$ 700.44			
4.	EA.	Provide and Apply Fertilizer within 11,686 S.F. of Maintenance per Specifications.	\$ 26.75 EA.	X 3	\$ 80.25			
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 4.82 LS.	X 52	\$ 250.64			
				<u>Subtotal</u>	\$ 3,906.61			
142.) 1.	BID SO	CHEDULE – GF-Perris Blvd./2 ^t Maintain 4,535 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance,	** 70.33 L.S.	X 12	\$ 843.96			
۷.	L.J.	Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 2.49 L.S.	X 52	\$ 129.48			

3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	6.57 \$ L.S	X52	\$ 341.64
4.	EA.	Provide and Apply Fertilizer within 4,535 S.F. of Maintenance per Specifications.	\$ 13.87 EA.	X 3	\$ 41.61
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.49 LS.	X 52	\$ 129.48
				<u>Subtotal</u>	\$ 1,486.17
<u>143.)</u>	BID SC	CHEDULE - 11 South D Street	Building		
1.	L.S.	Maintain 1,253 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	76.39 L.S.	X 9	\$ 687.51
2.	L.S.	Maintain 1,253 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	\$ 76.39 L.S.	X 35	\$ 2,673.65
3.	L.S.	Provide 1,253 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	\$ 672.23 L.S.	X 1	\$ 672.23
4.	L.S.	Maintain 2,256 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 34.99 L.S.	X 12	\$ 419.88
5.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 1.93 L.S.	X 52	\$ 100.36
6.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	5.08	X52	_{\$} 264.16
7.	EA.	Provide and Apply Fertilizer within 3,509 S.F. of Maintenance area per Specifications.	L.S. \$ 10.73	X 3	_{\$} 32.19
8.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	EA \$ 1.93	X 52	\$ 100.36

			LS.	<u>Subtotal :</u>	\$ 4,950.34
144.)	BID SC	CHEDULE – San Jacinto Ave.	Fire Station		
1.	L.S.	Maintain 17,165 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 266.2 L.S.	X 12	\$3,194.40
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	9.43 L.S.	X 52	_\$ 490.36
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ L.S	X52	\$1,292.72
4.	EA.	Provide and Apply Fertilizer within 17,165 S.F. of Maintenance per Specifications.	\$ 52.51 EA.	X3	\$ 157.53
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 9.43 LS.	X 52	\$ 490.36
			LS.	<u>Subtotal:</u>	\$ 5,625.37
		HEDULE - Perris Senior Cent	<u>ter</u>		
1.	L.S.	Maintain 6,550 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	\$ 399.32 L.S.	X 9	\$ 3,593.88
2.	L.S.	Maintain 6,550 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	\$ 399.32 L.S.	X 35	\$ 13,976.20
3.	L.S.	Provide 6,550 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	\$ 3,514.04 L.S.	X 1	\$ 3,514.04
4.	L.S.	Maintain 350 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 5.43 L.S.	X 12	\$ 65.16

5.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 3.79 L.S.	X 52	\$ 197.08
6.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 9.99 L.S.	X52	\$ 519.48
7.	EA.	Provide and Apply Fertilizer within 6,900 S.F. of Maintenance area per Specifications.	\$ 21.11 EA	X3	\$ 63.33
8.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	3.79 \$ LS.	X 52 Subtotal:	\$ 197.08 \$ 22,126.25
<u>146.)</u>	BID SC	CHEDULE – Perris Train Depo	<u>t</u>		
1.	L.S.	Maintain 4,230 S.F. of Turf Area from Nov. 1 to Feb. 28 per	257.88	V 0	¢ 2,320.92
		Specifications.	<u></u> Т. S.	X 9	\$ 2,320.92
2.	L.S.	Specifications. Maintain 4,230 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	\$ L.S. 257.88	X 35	\$ 9,025.80
2.	L.S.	Maintain 4,230 S.F. of Turf Area from Mar.1 to Oct. 31 per	257.88 \$ L.S. \$ 2,269.37		0.025.80
		Maintain 4,230 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications. Provide 4,230 S.F of Over-seeding on an annual basis prior to Nov. 15	257.88 \$ L.S.	X 35	\$ 9,025.80

 7. 	L.S EA.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within	\$ 14.35 L.S.	X52	\$ 746.20
		9,907 S.F. of Maintenance area per Specifications.	\$ 30.31 EA	X3	\$ 90.93
8.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	5.44 \$ LS.	X 52	\$ 282.88
				Subtotal:	\$ 16,075.46
<u>147.)</u>	BID SC	CHEDULE – Placentia Ave. Fir	e Station		
1.	L.S.	Maintain 12,034 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	242.61 \$ L.S.	X 12	\$ 2,911.32
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 5.53 L.S.	X 52	\$ 287.56
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 15.49	X52	\$ 805.48
4.	EA.	Provide and Apply Fertilizer within 12,034 S.F. of Maintenance per Specifications.	L.S \$ 30.68 EA.	X3	\$ 92.04
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 5.53 LS.	X 52	\$ 287.56
			_5.	<u>Subtotal:</u>	\$ 4,383.96

148.) BID SCHEDULE – FC-14 (Bradley Earthen Channel):

1.	L.S.	Maintain 369,250 S.F. 5,876.20 L.F. of of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable),			
		includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	\$ 10,287.38	X 12	\$ 123,448.56
			L.S.	0.14.4.150.44	_c 123,448.56
440 \	DID C	NIEDIUE EC 22. Charas W	stau Matau Fuau	Subtotal FC-14	\$ 123,446.56
<u>149.)</u>		CHEDULE – FC-22: Shares Wa	ater Meter Fron	n PK-13	
1.	L.S.	Maintain 34,000 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	\$ 636.35 L.S.	X 12	_ _{\$} 7,636.20
				Subtotal FC-22	\$ 7,636.20
150.)	BID SO	CHEDULE – FC-26 (Dale Earth	nen Channel):		
1.	L.S.	Maintain 2,135 L.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash,			
		weed, and debris removal, paid monthly, per Specifications.	\$ 33.11	X 12	_{\$} 397.32
			L.S.	Subtotal FC-26	\$ 397.32

151.) BID SCHEDULE - FC-77 (Evans Channel and Basins)

 L.S. Maintain 447,646 S.F. of Planter Area, on a monthly and as needed basis per Specifications.

\$ 9,024.58 X 12 \$ 108,294.96

2. L.S. Irrigation Maintenance,

\$ 205.75

X 52

		Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	L.S.		\$ 10,699.00
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 576.09 L.S	X52	\$ 29,956.68
4.	EA.	Provide and Apply Fertilizer within 447,646 S.F. of Maintenance per Specifications.	\$ 1,141.22 EA.	X 3	\$ 3,423.66
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	205.75 LS.	X 52	\$ 10,699.00
				Subtotal:	\$ 163,073.30
<u>152.)</u>	BID SO	CHEDULE – FC-97 (Green Vall	ey Basin E)		
1.	L.S.	Maintain 73,074 S.F. of Planter Area, on a monthly and as needed basis per Specifications.		X 12	\$ 13,599.00
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 40.14 L.S.	X 52	2,087.28
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 105.82	X52	\$ 5,502.64
4.	EA.	Provide and Apply Fertilizer within 73,074 S.F. of Maintenance per Specifications.	L.S \$ 223.55 EA.	X 3	\$ 670.65
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	40.14 \$ LS.	X 52	\$ 2,087.28
				Subtotal:	\$ 23,946.85

153.) BID SCHEDULE - FC-98 (Green Valley Basin W)

1.	L.S.	Maintain 79,842 S.F. of Planter Area, on a monthly and as needed basis per Specifications.		X 12	\$ 12,152.28
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 43.86 L.S.	X 52	\$ 2,280.72
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 115.62	X52	_{\$} 6,012.24
4.	EA.	Provide and Apply Fertilizer within 79,842 S.F. of Maintenance per Specifications.	\$ 244.26 EA.	X 3	\$ 732.78
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 43.86 LS.	X 52	\$ 2,280.72
				Subtotal:	\$ 23,458.74

SUB- TOTAL ALL ITEMS (1 through 153):

1,843,548.14

(In Figures)

SUB-TOTAL ALL ITEMS (1 through 153):

One million eight hundred forty-three thousand

(In Words)

five hundred forty-eight dollars and fourteen cents

(In Words Cont'd)

Additive Alternate Bid Schedule

BID ITEM NO.	(A) UNIT	(B) ITEM DESCRIPTION	(C) UNIT PRICE PER FREQUENCY (FIGURES)	(D) FREQUENCY PER WEEK, MONTH, APPLICATION	(E) YEARLY PRICE (FIGURES)
--------------------	--------------------	--------------------------------	--	---	--

154.)	BID SO	CHEDULE - BZ-166: South Arc	ea (Anticipate	ed FY25-26)	
1.	L.S.	Maintain 43,727 S.F. of Planter Area, 3,399 S.F. of Median Hardscape, and 10,730 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	\$ 950.06 L.S.	X 12	_{\$} 11,400.72
2.	L.S.	Irrigation Maintenance,			
		Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 21.66 L.S.	X 52	<u>\$ 1,126.32</u>
3.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub,			
		planter areas, etc. per Specifications.	_{\$} 60.65	X52	_{\$} 3,153.80
4	- 4		L.S		
4.	EA.	Provide and Apply Fertilizer within 54,457 S.F. of Maintenance per Specifications.	\$ 120.14 EA.	X3	\$ 360.42
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 21.66	X 52	\$ 1,126.32
			LS.	Subtotal BZ-166	\$ 17,167.58
	o				
<u>155.)</u>		CHEDULE - BZ-163: Central A	rea (Anticipat	ted FY25-26)	
1.	L.S.	Maintain 5,467 S.F. of Planter Area, 2,103 S.F. of Median Hardscape Area, and 2,020 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	\$ 193.38 L.S.	X 12	\$ 2,320.56
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	. 4.41		
		per Specifications.	\$	X 52	

					\$ 229.32
3.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	L.S. 12.34 \$ L.S.	X52	641.68
4.	EA.	Provide and Apply Fertilizer within 7,487 S.F. of Maintenance per Specifications.	\$ 24.45 EA.	X 3	\$ 73.35
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 4.41 LS.	X 52	\$ 229.32
				Subtotal BZ-163	\$ 3,494.23
<u>156.)</u>	BID SC	CHEDULE – BZ-169: Central A	rea (Anticipa	ted FY25-26)	
1.	L.S.	Maintain 2,071 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 41.75 L.S.	X 12	\$ 501.00
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	0.95 \$ L.S.	X 52	49.40 \$
3.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	2.67 <u>\$</u> L.S.	X52	<u>\$ 138.84</u>
4.	EA.	Provide and Apply Fertilizer within 2,071 S.F. of Maintenance per Specifications.	\$ 5.28 EA.	X3	<u>\$</u> 15.84
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	0.95 \$	X 52	\$ 49.40
				Subtotal BZ-169	\$ 754.48

157.) BID SCHEDULE – BZ-154 (TR36648): North Area (Anticipated FY25-26)

1.	L.S.	Maintain 35,733 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$\frac{720.38}{L.S.}	X 12	<u>\$</u> 8,644.56
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 16.42 L.S.	X 52	\$ 853.84
3.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$45.99 L.S.	X52	\$ 2,391.48
4.	L.S.	Maintain 85,921 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	\$1,732.17 L.S.	X12	\$ 20,786.04
5.	EA.	Provide and Apply Fertilizer within 5,757 S.F. of Maintenance per Specifications.	\$ 91.1 EA.	X3	\$ 273.30
6.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 16.42 LS.	X 52	\$ 853.84
				Subtotal BZ-154	<u> </u>
<u>158.)</u>	BID SC	CHEDULE - BZ-172: Central A	rea (Anticipa	ated FY25-26)	
1.	L.S.	Maintain 4,327 S.F. of Planter Area; 1,969 S.F. of Median Planter Area and 2,060 S.F. of Median Hardscape on Rider St., 2,881 S.F. of Median Planter Area and 2,039 S.F. of Median Hardscape on Redlands Ave., on a monthly and as needed basis per Specifications.	\$ 267.65 L.S.	X 12	\$ 3,211.80

2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per			
		Specifications.	\$ 6.1 L.S.	X 52	\$ 317.20
3.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	17.09 L.S.	X52	\$ 888.68
4.	EA.	Provide and Apply Fertilizer within 9,177 S.F. of Maintenance per Specifications.	\$ 33.85 EA.	X3	_{\$} 101.55
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 6.1 LS.	X 52	\$ 317.20
				Subtotal BZ-172	4,836.43 \$
		CHEDULE – BZ-175 (TR 33338	s): Central Are	ea (Anticipated	
	<u> -26)</u>				
1.	L.S.	Maintain 30,000 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 604.8 L.S.	X 12	\$ 7,257.60
2.	L.S.	Area, on a monthly and as needed		X 12	\$ 7,257.60 \$ 717.08
		Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	L.S.		

		weed, and debris removal, paid monthly, per Specifications.	\$ 453.54 L.S.		\$5,442.48
5.	EA.	Provide and Apply Fertilizer within 30,000 S.F. of Maintenance per Specifications.	\$ 76.48 EA.	X 3	\$ 229.44
6.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 13.79 LS.	X 52	\$ 717.08
				Subtotal BZ-175	\$ 16,371.40
<u>160.)</u>	BID SC	CHEDULE - BZ-167: North Are	ea (Anticipate	ed FY25-26)	
1.	L.S.	Maintain 4,526 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 91.24 L.S.	X 12	\$ 1,094.88
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 2.08 L.S.	X 52	_{\$} 108.16
3.	L.S	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 5.82 L.S.	X52	\$ 302.64
4.	EA.	Provide and Apply Fertilizer within 4,526 S.F. of Maintenance per Specifications.	11.54 \$ EA.	X3	\$ 34.62
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.08 LS.	X 52	\$ 108.16
			LO.	Subtotal BZ-167	\$ 1,648.46

161.) BID SCHEDULE - BZ-168: North Area (Anticipated FY25-26)

1.	L.S.	Maintain 5,751 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	\$ 115.94 L.S.	X 12	\$ 1,391.28
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 2.64 L.S.	X 52	<u>\$</u> 137.28
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 7.4 L.S	X52	\$ 384.80
4.	EA.	Provide and Apply Fertilizer within 5,751 S.F. of Maintenance per Specifications.	\$ 14.66 EA.	X3	\$ 43.98
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.64 LS.	X 52	\$ 137.28
				Subtotal BZ-168	\$ 2,094.62

162.) BID SCHEDULE - BZ-177: Central Area (Anticipated FY25-26)

1.	L.S.	Maintain 7,930 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 159.87 L.S.	X 12	\$ 1,918.44
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 3.64 L.S.	X 52	_{\$} 189.28
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 10.21	X52	\$ 530.92

			L.S		
4.	EA.	Provide and Apply Fertilizer within 7,930 S.F. of Maintenance per			
		Specifications.	\$ 20.22	X 3	_{\$} 60.66
_			EA.		
5.	LS.	Irrigation repairs per Specifications, Special Provisions			
		Section 9-D.	_{\$} 3.64	X 52	\$ 189.28
			LS.		
				Subtotal BZ-177	\$ 2,888.58
				Captotal BE-111	Ψ
<u>163.)</u>	BID SC	CHEDULE - BZ-AAA #2: North	Area (Antic	cipated FY25-26)	
1.	L.S.	Maintain 15,834 S.F. of Planter			
••	2.0.	Area, on a monthly and as needed	240.24		2 020 50
		basis per Specifications.	\$ 319.21 L.S.	X 12	\$ 3,830.52
2.	L.S.		L.S.		
		Irrigation Maintenance, Inspection, Testing, Monitoring,			
		Reporting, EMWD Water			
		Budgeting, Water Reporting,			
		Controller Budgeting, and Work Performance Reporting/Scheduling			
		per Specifications.	_{\$} 7.28	X 52	_{\$} 378.56
			L.S.	7,02	Ψ
_		Pick up trash and debris and weed			
3.	L.S.	abate hardscape, turf, shrub, planter areas, etc. per			
		Specifications.	\$ 20.38	X52	_{\$} 1,059.76
1	EA.	Drovide and Apply Fortilizer within	L.S		
4.	EA.	Provide and Apply Fertilizer within 15,834 S.F. of Maintenance per			10111
		Specifications.	\$ 40.37	X 3	_{\$} 121.11
_	1.0	Invigation vancing nor	EA.		
5.	LS.	Irrigation repairs per Specifications, Special Provisions			070.50
		Section 9-D.	\$ 7.28	X 52	_{\$} 378.56
			LS.		
				Subtotal BZ-AAA #2	\$ 5,768.51
164.)	BID SC	CHEDULE - GF-Goetz Road M	edians CIP#	S136: South Area	
	cipated	FY25-26)			
1.	L.S.	Maintain 40,260 S.F. of Median			
		Planter Area, on a monthly and as needed basis per Specifications.	\$ 811.64	X 12	_{\$} 9,739.68
		·	L.S.	71.12	<u> </u>
2.	L.S.	Irrigation Maintenance,			
		Repairs, Per Section 9-D, Inspection, Testing, Monitoring,	\$ 18.5	X 52	
		. , 3,		-	

		Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	L.S.		\$ 962.00
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 51.81 L.S	X52	\$ 2,694.12
4.	EA.	Provide and Apply Fertilizer within 40,260 S.F. of Maintenance per Specifications.	\$ 102.64 EA.	X3	\$ 307.92
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 18.5 LS.	X 52	\$ 962.00
		<u>Subtotal G</u>		Medians CIP#S136:	\$ 14,665.72
		CHEDULE – GF-Nuevo Road No. 1 FY25-26) Maintain 32,650 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring,	s 658.23 L.S.	X 12	\$ 7,898.76
3.	L.S.	Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per	\$ 15.01 L.S.	X 52	\$ 780.52
4.	EA.	Specifications. Provide and Apply Fertilizer within	\$ 42.02 L.S	X52	\$ 2,185.04
		22,000 S.F. of Maintenance per Specifications.	\$ 83.24 EA.	X3	\$ 249.72
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 15.01 LS.	X 52	\$ 780.52
		Subtotal GI	F-Nuevo Road	Medians CIP#S136:	\$ 11,894.56

166.) BID SCHEDULE - GF-Placentia Ave Parkways: Central Area	
(Anticipated FY24-25 & FY25-26)	

1.	L.S.	Maintain 108,951 S.F. of Median and Planter Area, on a monthly and as needed basis per Specifications.	_{\$} 2196.46	X 12	_{\$} 26,357.52
		opeomoations.		Λ 12	_ Ψ ′
2.	L.S.	Irrigation Maintenance, Repairs, Per Section 9-D, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$50.08 L.S.	X 52	\$ 2,604.16
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 140.21	X52	\$ 7,290.92
4.	EA.	Provide and Apply Fertilizer within 108,951 S.F. of Maintenance per Specifications.	L.S \$ 277.76 EA.	X 3	_{\$} 833.28
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 50.08 LS.	X 52	\$ 2,604.16
		Sub	total CE Blaconti	o Avo Borkwaya	39,690.04

Subtotal GF-Placentia Ave Parkways: \$

167.) BID SCHEDULE – BZ-162B (TR37722): South Area (Anticipated FY25-26)

1.	L.S.	Maintain 49,421 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 996.33 L.S.	X 12	\$ 11,955.96
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 22.72 L.S.	X 52	_ _{\$} 1,181.44
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 63.6	X52	\$ 3,307.20

_			L.S		
4.	EA.	Provide and Apply Fertilizer within 49,421 S.F. of Maintenance per			
		Specifications.	\$ 125.99	X 3	_{\$} 377.97
		•	ĒA.		
5.	LS.	Irrigation repairs per			
		Specifications, Special Provisions Section 9-D.	\$ 22.72	X 52	_{\$} 1,181.44
		Gection 9-D.	LS.	X 32	φ :,:•:::
					_e 18,004.01
				Subtotal BZ-162B	\$ 10,004.01
168.)	BID SC	CHEDULE - BZ-162D: South A	rea (Anticina	ited FY25-26)	
				<u> </u>	
1.	L.S.	Maintain 54,452 S.F. of Planter Area, on a monthly and as needed			
		basis per Specifications.	_{\$} 1097.76	X 12	\$ 13,173.12
		·	L.S.		
2.	L.S.	Irrigation Maintenance,			
		Inspection, Testing, Monitoring,			
		Reporting, EMWD Water Budgeting, Water Reporting,			
		Controller Budgeting, and Work			
		Performance Reporting/Scheduling			
		per Specifications.	\$ 25.03	X 52	_{\$} 1,301.56
			L.S.		
3.		Pick up trash and debris and weed abate hardscape, turf, shrub,			
J.	L.S.	planter areas, etc. per	70.00		
		Specifications.	\$ 70.08	X52	\$ 3,644.16
1		Weed abatement of walking trail	L.S		
4.	L.S.	17,135 S.F.	_{\$} 22.05	X52	_{\$} 1,146.60
			L.S.		
5.	EA.	Provide and Apply Fertilizer within			
		54,452 S.F. of Maintenance per Specifications.	_{\$} 138.82	X 3	_{\$} 416.46
		•	ĒA.		
6.	LS.	Irrigation repairs per			
		Specifications, Special Provisions Section 9-D.	\$ 25.03	V 52	1,301.56 \$
		Section 9-D.	LS.	X 52	Φ
					_{\$} 20,983.46
				Subtotal BZ-162D	\$ 20,983.46

169.) BID SCHEDULE – GF-Ramona Expressway CIP#S134: North Area (Anticipated FY25-26)

1.	L.S.	Maintain 24,071 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 485.27 L.S.	X 12	5,823.24
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 11.06 L.S.	X 52	\$ 575.12
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	L.S. \$30.98 L.S	X52	_ _{\$} 1,610.96
4.	EA.	Provide and Apply Fertilizer within 24,071 S.F. of Maintenance per Specifications.	\$61.37 EA.	X 3	\$ 184.11
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 11.06 LS.	X 52	\$ 575.12
		Subtotal G	F-Ramona Exp	ressway CIP#S134	\$ 8,768.55
<u>170.)</u>	BID S				
1.		<u> CHEDULE – CUP 20-05101: No</u>	orth Area (Anti	cipated FY25-26)	
	L.S.	CHEDULE – CUP 20-05101: No Maintain 5,207 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 104.97	X 12	\$ 1,259.64
2.	L.S.	Maintain 5,207 S.F. of Planter Area, on a monthly and as needed		_	\$ 1,259.64 \$ 124.28
2.		Maintain 5,207 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling	\$ 104.97 L.S.	X 12	,

5. LS. Irrigation repairs per Specifications, Special Provisions 2.39 124.28 Section 9-D. X 52 1,896.41 **Subtotal CUP 20-05101:** 171.) BID SCHEDULE - DPR 15-00014: Central Area (Anticipated FY25-26) L.S. Maintain 1,026 S.F. of Planter Area, on a monthly and as needed \$ 20.68 _{\$} 248.16 basis per Specifications. X 12 2. L.S. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling 0.47 per Specifications. \$ 24.44 X 52 L.S. Pick up trash and debris and weed 3. abate hardscape, turf, shrub, L.S. planter areas, etc. per \$ 1.32 68.64 Specifications. X52 4. EA. Provide and Apply Fertilizer within 1,026 S.F. of Maintenance per 7.86 \$ 2.62 X 3 Specifications. 5. LS. Irrigation repairs per Specifications, Special Provisions <u>\$</u> 0.47 24.44 X 52 Section 9-D. 373.54 **Subtotal DPR 15-00014:** 172.) BID SCHEDULE - DPR 18-00001: North Area (Anticipated FY25-26) 1. L.S. Maintain 4,385 S.F. of Planter Area, on a monthly and as needed 88.4 1.060.80 basis per Specifications. 2. L.S. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling 2.02 per Specifications. X 52

					\$ 105.04
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub,	L.S.		
		planter areas, etc. per Specifications.	\$ 5.64 L.S	X52	\$ 293.28
4.	EA.	Provide and Apply Fertilizer within 4,385 S.F. of Maintenance per Specifications.	\$ 11.18 EA.	X3	\$ 33.54
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.02 LS.	X 52	\$ 105.04
			Sub	total DPR 18-00001:	\$ 1,597.70
<u>173.)</u>	BID SC	CHEDULE - DPR 18-00007: No	orth Area (An	ticipated FY25-26)	
1.	L.S.	Maintain 7,979 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 160.86 L.S.	X 12	\$ 1,930.32
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling			
		per Specifications.	3.67 L.S.	X 52	\$ 190.84
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 10.27	X52	\$ 534.04
4.	EA.	Provide and Apply Fertilizer within 7,979 S.F. of Maintenance per Specifications.	L.S \$ 20.34 EA.	X3	\$ 61.02
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 3.67	X 52	\$ 190.84
			LS.	total DPR 18-00007:	\$2,907.06

174.) BID SCHEDULE - DPR 19-00004: North Area (Anticipated FY25-26)

1.	L.S.	Maintain 19,200 S.F. of Planter Area of Parkway and 522 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	\$ 397.6 L.S.	X 12	\$ 4,771.20
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 9.06 L.S.	X 52	\$471.12
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 25.38 LS	X52	_{\$} 1,319.76
4.	EA.	Provide and Apply Fertilizer within 19,722 S.F. of Maintenance per Specifications.	\$ 50.28 EA.	X 3	\$ 150.84
5.	LS.	Irrigation repairs per Specifications, Special Provisions	. 9.06		. 471 12

\$ 9.06

Subtotal DPR 19-00004: \$ 7,184.04

X 52

175.) BID SCHEDULE - DPR 19-00006: North Area (Anticipated FY25-26)

Section 9-D.

1.	L.S.	Maintain 9,829 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 198.15 L.S.	X 12	\$ 2,377.80
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 4.52 L.S.	X 52	\$ 235.04
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 12.65	X52	\$ 657.80

 4. 5. 	EA.	Provide and Apply Fertilizer within 9,829 S.F. of Maintenance per Specifications. Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 25.06 EA. 4.52 LS.	X 3 X 52	\$ 75.18 \$ 235.04
				total DPR 19-00006:	\$ 3,580.86
<u>176.)</u>	BID SC	<u> CHEDULE – DPR 20-00014: No</u>	orth Area (An	ticipated FY25-26)	
1.	L.S.	Maintain 4,000 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 80.64 L.S.	X 12	\$ 967.68
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	¢ 1.84	X 52	\$ 95.68
			\$ 1.84 L.S.	X 32	φ σσ.σσ
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 5.15 L.S	X52	\$ 267.80
4.	EA.	Provide and Apply Fertilizer within 4,000 S.F. of Maintenance per Specifications.	\$ 10.2 EA.	X3	\$ 30.60
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 1.84 LS.	X 52	\$ 95.68
				total DPR 20-00014:	\$ 1,457.44
<u>177.)</u>	BID SC	CHEDULE – DPR 21-00007: No	orth Area (An	ticipated FY25-26)	
1.	L.S.	Maintain 6,423 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 129.49 L.S.	X 12	\$ 1,553.88
2.	L.S.	Irrigation Maintenance,	\$ 2.95	X 52	

		Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	L.S.		_{\$} 153.40
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 8.27 L.S	X52	\$ 430.04
4.	EA.	Provide and Apply Fertilizer within 6,423 S.F. of Maintenance per Specifications.	\$16.37 EA.	X 3	\$ 49.11
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$2.95 LS.	X 52	\$ 153.40
			<u> </u>	Subtotal DPR 21-00007:	\$2,339.83
178.) 1. 2.	L.S.	Maintain 3,623 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting,	\$ 73.04 L.S.	(Anticipated FY25-26) X 12	\$ 876.48
		Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 1.67 L.S.	X 52	_{\$} 86.84
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	4.66 \$ L.S	X52	\$ 242.32
4.	EA.	Provide and Apply Fertilizer within 3,623 S.F. of Maintenance per Specifications.	\$ 9.24 EA.	X3	\$ 27.72
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	1.67 \$ LS.	X 52	\$ 86.84
				Subtotal DPR 21-00017:	\$ 1,320.20

170) DID CCHEDIII E	 DPR 22-00010: North Area 	1 / Anticinated EV2E 26\
1/3.1 DID SCHEDULE -	'DER 22-000 IV. NUI III AIE	1 (Allicidated F 123-20)

1.	L.S.	Maintain 9,973 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 201.06 L.S.	X 12	\$ 2,412.72
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 4.58 L.S.	X 52	\$ 238.16
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$12.83	X52	_{\$} 667.16
4.	EA.	Provide and Apply Fertilizer within 9,973 S.F. of Maintenance per Specifications.	\$ 25.42 EA.	Х 3	\$ 76.26
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 4.58 LS.	X 52	\$ 238.16

Subtotal DPR 22-00010: \$ 3,632.46

180.) BID SCHEDULE - GF-Skill Center: North Area (Anticipated FY25-

26) 1.	L.S.	Maintain 4,966 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	\$ 100.11 L.S.	X 12	\$ 1,201.32
2.	L.S.	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	\$ 2.28 L.S.	X 52	_{\$} 118.56
3.	L.S.	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	\$ 6.39	X52	^{\$} 332.28

4	EA.	Provide and Apply Fertilizer within	L.S			
	27 (.	4,966 S.F. of Maintenance per Specifications.	\$ 12.66 EA.	X3	\$ 37.98	_
5.	LS.	Irrigation repairs per Specifications, Special Provisions Section 9-D.	\$ 2.28 LS.	X 52	\$ 118.56	_

Subtotal GF-Skill Center: \$ 1,808.70

181.) BID SCHEDULE – Irrigation Controller, Irrigation Cabinet, Master Valve, and Flow Sensor LMD Upgrades: Refer to Appendix G

BID ITEM NO.	(A) Unit	(B) Item Description Must Use Appendix G for Bid Items	(C) Unit Price (Figures)	(D) Unit Quantity One (1) Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation, plus removal of existing irrigation material.	(E) Total Price (Figures) (C x D)
1.	LS.	Benefit Zone-1A1: Meter #73029649: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3883.72	x 1	\$ 3883.72
2.	LS.	Benefit Zone-1A2: Meter #863785: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3883.72	x 1	\$ 3883.72
3.	LS.	Benefit Zone-1B1: Meter #57097712: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	3883.72 \$	x 1	§ 3883.72

4.	LS.	Benefit Zone-1B2: Meter #93709835: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.8	3,883.72	x 1	3,883.72 \$
5.	LS.	Benefit Zone-2A: Meter #8220531: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x 1	\$ 19,866.52
6.	LS.	Benefit Zone-3: Meter #11087230: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	19,866.52
7.	LS.	Benefit Zone-4A: Meter #67010235: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	\$ 19,866.52
8.	LS.	Benefit Zone-4B: Meter #65432242: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	\$ 19,866.52
9.	LS.	Benefit Zone-5C: Meter #71567454: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72
10.	LS.	Benefit Zone-5B: Meter #73678131: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	\$ 19,866.52
11.	LS.	Benefit Zone-5: Meter #70033042: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	\$ 19,866.52

12.	LS.	Benefit Zone-8: Meter #64622265: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	19,866.52	x 1	19,866.52
13.	LS.	Benefit Zone-9: Meter #67407107: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72
14.	LS.	Benefit Zone-13: Meter #2117500: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72
15.	LS.	Benefit Zone-14A: Meter #98391003: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$3,883.72
16.	LS.	Benefit Zone-14B: Meter #64595376: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72
17.	LS.	Benefit Zone-15: Meter #8218339: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72
18.	LS.	Benefit Zone-15B: Meter #71661941: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72
19.	LS.	Benefit Zone-16: Meter #73236449: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	<u>\$</u> 19,866.52

20.	LS.	Benefit Zone-17: Meter #9131621: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 20,008.40	x 1	\$ 20,008.40
21.	LS.	Benefit Zone-18: Meter #94508765: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 20,008.40	x1	\$ 20,008.40
22.	LS.	Benefit Zone-19: Meter #68990412: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$3,883.72
23.	LS.	Benefit Zone-20: Meter #9193639: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	19,866.52	x1	\$ 19,866.52
24.	LS.	Benefit Zone-21: Meter #72281142: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$3,883.72	x1	\$ 3,883.72
25.	LS.	Benefit Zone-22: Meter #9193648: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	\$ 19,866.52
26.	LS.	Benefit Zone-24A: Meter #232700624: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	19,175.06	x 1	\$ 19,175.06
27.	LS.	Benefit Zone-24B: Meter #64485489: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	19,175.06	x 1	\$ 19,175.06

28.	LS.	Benefit Zone-28: Meter #96367738: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	§ 3,883.72	x 1	\$ 3,883.72
29.	LS.	Benefit Zone-35A: Meter #64485500: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 18,942.78	x 1	\$ 18,942.78
30.	LS.	Benefit Zone-35B: Meter #64054459: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,366.52	x 1	\$ 21,366.52
31.	LS.	Benefit Zone-36A: Meter #66653901: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,366.52	x 1	\$ 21,366.52
32.	LS.	Benefit Zone-36B: Meter #62351402: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	21,366.52	x1	21,366.52
33.	LS.	Benefit Zone-36C: Meter #73368165: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,675.06	x 1	\$ 21,675.06
34.	LS.	Benefit Zone-37: Meter #62853498: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72
35.	LS.	Benefit Zone-39: Meter #61625803: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	3,883.72 §	x 1	3,883.72 \$

36.	LS.	Benefit Zone-40C: Meter #60136142: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x 1	§ 19,866.52
37.	LS.	Benefit Zone-40A: Meter #60136141: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x 1	\$ 19,866.52
38.	LS.	Benefit Zone-40B: Meter #62035382: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x 1	\$ 19,866.52
39.	LS.	Benefit Zone-42A: Meter #61791861: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 1,459.98	x1	\$ 1,459.98
40.	LS.	Benefit Zone-42B: Meter #64078314: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72
41.	LS.	Benefit Zone-42C: Meter #64078283: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 17,442.78	x1	\$17,442.78
42.	LS.	Benefit Zone-50A: Meter #64054461: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	3,883.72
43.	LS.	Benefit Zone-50B: Meter #61791929: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x 1	3,883.72 \$

44.	LS.	Benefit Zone-52: Meter #66232674: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	_{\$} 19,251.32	x 1	\$ 19,251.32
45.	LS.	Benefit Zone-53A: Meter #66232669: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x 1	\$ 3,883.72
46.	LS.	Benefit Zone-53B: Meter #65514399: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,366.52	x1	\$ 21,366.52
47.	LS.	Benefit Zone-53C: Meter #66232670: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	21,366.52	x1	\$ 21,366.52
48.	LS.	Benefit Zone-53D: Meter #66232660: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,366.52	x1	\$21,366.52
49.	LS.	Benefit Zone-53E: Meter #69524006: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,366.52	x1	\$ 21,366.52
50.	LS.	Benefit Zone-53F: Meter #65432254: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,366.52	x1	\$ 21,366.52
51.	LS.	Benefit Zone-53G: Meter #65514404: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	§ 21,366.52	x1	21,366.52 \$

52.	LS.	Benefit Zone-54: Meter #66761700: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	_{\$} 19,583.40	x 1	_{\$} 19,583.40
53.	LS.	Benefit Zone-55: Meter #212161685: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	_{\$} 19,583.40	x1	\$ 19,583.40
54.	LS.	Benefit Zone-56A: Meter #57435860: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,366.52	x1	\$ 21,366.52
55.	LS.	Benefit Zone-56B: Meter #57577690: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,366.52	x1	\$ 21,366.52
56.	LS.	Benefit Zone-56C: Meter #57577644: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,366.52	x1	\$ 21,366.52
57.	LS.	Benefit Zone-57A: Meter #63885643: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	\$ 19,866.52
58.	LS.	Benefit Zone-57B: Meter #65432237: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,675.06	x1	\$ 21,675.06
59.	LS.	GF-58: Meter #71468641: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	<u>\$</u> 17,442.78	x1	17,442.78 \$

60.	LS.	Benefit Zone-59A: Meter #66133024: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 17,442.78	x 1	\$ 17,442.78
61.	LS.	Benefit Zone-59B: Meter #66133025: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 15,982.80	x 1	\$ 15,982.80
62.	LS.	Benefit Zone-60B: Meter #72048105: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	21,675.06	x 1	\$ 21,675.06
63.	LS.	Benefit Zone-61: Meter #74705271: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 15,982.80	x 1	15,982.80
64.	LS.	Benefit Zone-63: Meter #69647491: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$20,008.40	x 1	20,008.40
65.	LS.	Benefit Zone-63A: Meter #71134893: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x 1	\$ 3,883.72
66.	LS.	Benefit Zone-63B: Meter #68509913: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,175.06	x1	\$ 19,175.06
67.	LS.	Benefit Zone-63C: Meter #68509912: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	§ 3,883.72	x1	\$ 3,883.72

68.	LS.	Benefit Zone-63D: Meter #19849091: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 20,008.40	x 1	\$ 20,008.40
69.	LS.	Benefit Zone-63F: Meter #68868205: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	3,883.72	x 1	\$ 3,883.72
70.	LS.	Benefit Zone-66: Meter #68990322: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72
71.	LS.	Benefit Zone-71: Meter #66966966: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 1,459.98	x1	\$ 1,459.98
72.	LS.	Benefit Zone-72: Meter #67383868: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 16,124.68	x1	\$ 16,124.68
73.	LS.	Benefit Zone-73: Meter #73402420: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	17,442.78 \$	x1	17,442.78 \$
74.	LS.	Benefit Zone-74: Meter #67298811: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$17,442.78	x1	\$ 17,442.78
75.	LS.	Benefit Zone-76: Meter #67351698: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x 1	\$ 19,866.52

76.	LS.	Benefit Zone-77A: Meter #222058042: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	§ 19,866.52	x 1	19,866.52 \$
77.	LS.	Benefit Zone-77B: Meter #19863516: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x 1	\$ 19,866.52
78.	LS.	Benefit Zone-80A: Meter #69524007: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	\$ 19,866.52
79.	LS.	Benefit Zone-80B: Meter #69524003: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	\$ 19,866.52
80.	LS.	Benefit Zone-81A: Meter #68270155: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	\$ 19,866.52
81.	LS.	Benefit Zone-81B: Meter #68529719: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	\$ 19,866.52
82.	LS.	Benefit Zone-85: Meter #8931665: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72
83.	LS.	Benefit Zone-86: Meter #64749124: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	19,866.52 \$

84.	LS.	Benefit Zone-93: Meter #13073649: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	_{\$} 19,866.52	x 1	§ 19,866.52
85.	LS.	Benefit Zone-94: Meter #8382295: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	19,866.52	x 1	\$ 19,866.52
86.	LS.	Benefit Zone-94A: Meter #8402026: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	3,883.72	x 1	\$ 3,883.72
87.	LS.	Benefit Zone-94B: Meter #8871149: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	3,883.72	x 1	3,883.72
88.	LS.	Benefit Zone-95: Meter #73571474: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,366.52	x1	\$ 21,366.52
89.	LS.	Benefit Zone-96A: Meter #9020077: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 1,459.98	x1	1,459.98
90.	LS.	Benefit Zone-97A: Meter #8445988: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,366.52	x1	\$ 21,366.52
91.	LS.	Benefit Zone-97B: Meter #8214104: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	§ 21,366.52	x1	\$ 21,366.52

92.	LS.	Benefit Zone-97C: Meter #8214105: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 21,366.52	x1	\$ 21,366.52
93.	LS.	Benefit Zone-98: Meter #73610183: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72
94.	LS.	Benefit Zone-99: Meter #9656727: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,175.06	x1	\$ 19,175.06
95.	LS.	Benefit Zone-100: Meter #78641845: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	\$ 19,866.52
96.	LS.	Benefit Zone-101/102: Meter #73783364: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52	x1	\$ 19,866.52
97.	LS.	Benefit Zone-104A: Meter #212447751: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	3,883.72	x1	\$ 3,883.72
98.	LS.	Benefit Zone-104B: Meter #212447750: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72
99.	LS.	Benefit Zone-104C: Meter #20006399: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72

100.	LS.	Benefit Zone-104D: Meter #8931686: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	§ 3,883.72	x 1	\$ 3,883.72
101.	LS.	Benefit Zone-104E: Meter #9062050: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x1	\$ 3,883.72
102.	LS.	Benefit Zone-106: Meter #73641847: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$	x1	\$
103.	LS.	Benefit Zone-107/108A: Meter #9050894: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	3,883.72	x1	3,883.72
104.	LS.	Benefit Zone-107/108B: Meter #9023129: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x 1	\$ 3,883.72
105.	LS.	Benefit Zone-107/108C: Meter #9023130: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	3,883.72	x 1	3,883.72
106.	LS.	Benefit Zone-115: Meter #10006232: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 19,866.52		\$ 19,866.52
107.	LS.	Benefit Zone-116B: Meter #9050873: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	15,291.34	x 1	15,291.34 \$

108.	LS.	Benefit Zone-123: Meter #10480798: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x 1	\$3,883.72
109.	LS.	Benefit Zone-135: Meter #19865780: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 1,459.98	x1	\$ 1,459.98
110.	LS.	Benefit Zone-146: Meter #19865783: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x 1	\$ 3,883.72
111.	LS.	Benefit Zone-149: Meter #19865779: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x 1	\$ 3,883.72
112.	LS.	Benefit Zone-151: Meter #212181412: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	3,883.72	x 1	\$ 3,883.72
113.	LS.	Benefit Zone-157: Meter #212161594: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	\$ 3,883.72	x 1	§ 3,883.72
114.	LS.	Benefit Zone-160: Meter #222056940: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	§ 3,883.72	x 1	\$ 3,883.72

SUB-TOTAL ADDITIVE BI	D
SCHEDULE (154 through	181)

\$1,727,863.89

SUB-TOTAL ADDITIVE BID SCHEDULE (154 through 181)

(In Figures)

\$ One million seven hundred twenty-seven thousand

(In Words)

eight hundred sixty-three dollars and eighty-nine cents

GRAND TOTAL BID	(BASE-BID PLUS	ADDITIVE ALTERNATES	S) SCHEDULES (#1	through
#181):				_

\$3,571,412.03

(In Figures)

GRAND TOTAL BID (BASE-BID PLUS ADDITIVE ALTERNATES) SCHEDULES (#1 through #181):

Three million five hundred seventy-one thousand four hundred twelve dollars and three cents
(In Words)
(In Words, Cont'd)

Please note the following regarding bids:

- A. One (1) lowest and responsible bidder based upon lowest total of all bid items within Base Bid shown on the NORTH, CENTRAL, AND SOUTH Maintenance Area Tables, combined, including additive alternate bid schedule; or will be made to up to three (3) separate lowest and responsible bidders, based upon the lowest total of all bid items shown on the NORTH, CENTRAL AND SOUTH Maintenance Area Tables, including additive alternate bid schedule items specified by North, Central, and South Areas; and is expected April 9, 2024 February 20, 2024. It shall be at the City's sole discretion to determine the sequencing of the award of the geographic areas to either one or two or three for individual bidders, which shall serve the City's best interest.
- B. Should the City elect to exercise the option extend this agreement for an additional one (1) year period, the Contractor understands and agrees that, if City grants such an extension, costs shall escalate annually based on the Consumer Price Index (CPI) "All Urban Consumers for Los Angeles, Riverside and Orange County, CA" or 3% whichever is lower, for the two 1-year extension periods. Similarly, unless authorized by the Contract administrator, City shall have no obligation to reimburse Contractor for any otherwise reimbursable expenses incurred during the extension period. This method of price negotiation shall apply to each extension period exercised.
- C. Bid shall include all sales tax, and all other taxes and fees.
- D. Bid is for a project complete-in-place.